:PMA

Cable Protection

SBRREE RS

\\0

IRE

Power and productivity
for a better world™ "....

IR -

R AFEHIRIRMMBIRAE]
f e Lintronix Co., Ltd.

http://www . lintronix.com.tw
B b 24257 $i it [E A [E 88651-6 524 &
TEFE:02-29081666 {HH :02-29081678
B &+ 40854 = W [= 5 B 8 — E& 500 5%
TEE :04-24712125 {H5H :04-24712124
BEeEm="REEE — 287542 A06=F
BTEEE:07-3229509 {EH :07-3229956

No.2207-66



Ittt PMA RBIARIIR 19755 »
2B8 (Nylon) EifRES SRR
MEIFSFEES - FTIRIME
Goi#838 6,500%& - PMAR £ IK
RAENESHLEMIIEES
ABBE TGk -

BEaRNRIERERRMEZ SR
> PMAEGRRNGEHRIER
HNERIZE : LEBBITREIMA
T REESTEIRBIE:
MR ARZRERI, : M=
BRERESR  URSBEEFRHE
W - PMAEGESIETERBEN
PZESESE °

PMASEBIS09001 R B R »
FIBEGREBEENREEH
BTEM - TBREGIIDBBISE
eI PA6SY PA12 RRIEAS - B
B - BE - BNRFHET
° PMARTIBH8E M TR 45
BER : SIRE3B3EBRRE
DRTHRIERS -

. A IE
- raipip PMA

ABB Switrerfand Lid. PMA Cable Protection

2 GENE

ORBAFHSI
OREREHE
3 EAEH

4 BVETEEREA

5 BIRERS EEIREIRIRES / fesEE
6 ATEX/IECEx/TSPI/RERI

| BREZREERS
7 ROBOTEREIRREE / ZERESHRY!
8 BIRIRES OMRBFIE &R
9 1/ EEA {OLLPA
OCYL
10 PAA {OXPCSL
RobotE 5 {PIS/PIH
11 Bk {JFBD
BEER/EIEAIA OVAML
ULBE O CUS
12 fig/ EiEaEA OXESX
nEE OESD
BRFRSES OXPCL
13 SREREA OPHT
SR/ 2R {OVOH
14 MEESRREE  OPVD
BIRNEIRIREE  OPPCOF
SmERERE OL.66
15 $EBNHE OEEER
O1P66. IP6SGT E LSR8
OT1P68 FHicsR A
{IP69K PMAFIX Pro
16 IP6OK BRI OMHF
IP6OK 4588 OMSF
IP6OK BER/1EE OMEHF
17 1P69K AHEE OMSF
< MIL-C50155F
IP6OK BE T OMEF
18 BFZEE OMSF
OPSH
19 BR/#ER OPGH
20 90"EH#E58 OMHF
OPGH
OPSH

21 45" B8
22 BEFER
ROBER/ %R
23 EBIRFIER
24 HEIRFIER

25 RF#ERE

26 RFEBE

27 JumboZ3E
28 BEEL

29 =@B#EE

90° iEEE 38
B heEiEs

30 B RESE

31 EASIREESE

32 HEfeH

33 HEfet

34 EhRIBER

OMEF
OPGH
ONPTH

<BVBD
<OBVOD
{OBVOV

oaPMS
OBRIMS

O45BEMS
O EBMSF

OMSF

OPGH
<{>Sensor
OEBRIER

{AMP / CPC

OUTG-6/1TT
Cannon Trident

<{>UNEF MIL-C5015

{OBGG (V)/BGO (V)

<> FH-0

< GPS

<& GH

OY T
OTH
OBIRBRYH
OBIBATH

OIBIEEETE

OB ER
ORESPILHITER
OMEMSF
OERBETEVSG
OIREERITBIRKIR
OBIFERER

OB TNIRIE
OREERIHIREE
OimBiRE RiniER
OfHXRE
OBXER

{OWPS IP6OKEE
OfeBeigie
OEBIRIE



oo ARSI

Reversed bending test with swinging

according to PMA spec.9.21-4425
& IEC EN 61386

(EREENR OE R AIR)

Reversed bending test
according to PMA spec.9.21-4420

(2 52 Bl

Reversed bending test according
to PMA spec.9.21-4220

(BmEehsEE A5

Peak load test according to
PMA spec.9.21-4320 & IEC EN 61386

System pull-out strength
according to PMA
spec.9.21-4610 & IEC EN 61386

Impact test according to PMA
spec. 9.21-4330 & IEC EN 61386

Cold bending test according to
PMA spec.9.21-4380

(B REHh5E2BIE)

(BB RIE) (i AIE) (tEERIE)
F
»D ,
] 1
(2 o|o
.--lri = $ - “‘ |- \
AD/0D O O \,

Thermal ageing test according
to PMA spec.9.21-4360

(EmELBIE)

Self-extinguishing according to PMA
spec.9.21-4430 & |IEC EN 61386

(HEERERIE)

electrosuisse

B &

@ IRISD

BOMBARDIER
Transportation @
®
m !l‘- CS@U
“w ATYYE TRENITALIA

\ (

SIEMENS

(t'
2

ALSTOM
A\

A
UNDERGROUND!
\ 4

London Underground Limited

LOW VOLTAGE
DIRECTIVE

Z urtac

Cert:f:cat:on E N

1S0 9001

BUREAU VERITAS
Cartification




PMA

EREH

EERW e B —

ABEETIE - BERH (FUVERS)
V35 I F A B
Eene T r . .

4BaNtasiE



METXEREL

Bl s=mES - SmMEEENERR
- {RFEE : XPCSF(HL3) » XPCS(HL2) ZEE - EHREfEAH
UV EE
- ¥ ©B: PMAFIX IP68GT
- B2 4 : MAVI » MAVIK * SCA » SCAK * SWA -5

¥ s=mmE
- {RFEE : VAM ~ VAML » EN45545-2 HL3F5NE#R
- # ©BH: PMAFIX IP68GT = PMAFIX IP66
- #miS48 - F.66 ~ C.66 * L.66 » MM
- Bt FIRNRIER  IRRZREEER

K] smEs - sy
- {REEE : XPCSF EN45545-2 HL3FINEFEHR ~ PHTM =R
- & ©5TH: PMAFIX IP68GT &Y PMAFIX Pro IP69K
- 4 YERTRE=®#EE

V] smismnEsE
- ENHEREE : VAM ~ VAML ~ POH ~ PLU
- P FHREE : XPCS ~ XSOL ~ XVCS1H ~ XVCS2H ~
VCS

- ¥ ©TH: PMAFIX IP68GT 2% PMAFIX Pro IP69K X
PMAFIX IP66

- B 4 BIRIVRIER  REZEREHEER

IRISS @9,

PMAEREVSEIFFEE TEF% (RIS) 5858
7 il R U ENE B N AREE EN45545-2

* FHBAR IR AR



PMA

SIFRERY!

LR

RE2RE3NE RIg2E 298

= LTO .PX
AofEEn -

HENEE  BEMS - RE2RE298 RiBEREESRBRER

ZRRIRHRALR » ZEMA - AR
ECRFE ©
RIFCEZEREEECH - BB E -

[ERZE :
EETRARIEY » BELRERR

EE -

b E SRR R EE A BIRIREE
EITERRBR  IIRERFESHKR

LN

o

IS o HIg2E288 HES2HE3NE
EERGHEERES jird 8]

EmfiE EmREh
PMA ERERFEE N KT 304 A58 Sl w15 1 360° [iet2 258
ZPBREEE - BETITTBKERE BRI FE RIS ER
BRRTEMINTE - EMCER F SRR AR

F RIS ER



ATEX/IECEx/TS BHIRE R

I 2D Ex tb IlIC Db
SEV 15 ATEX 0121X, IECEX SEV 15.0009X

TS & IEC 6007912 ; $HE CNS 3376 (TS) FHIEFRER

BE @ H X @®

IECEx ATEX EurAsian  INMETRO

CE 1258 @ 112G Ex eb IIC Gb

EIRIREE - 1208 ~ BER
EmREEE
FEHIIRAR R

EmiTEL:
REEXREYOBEERNFYE
Antimicrobial J1E 17
RTA FDA 21 CFR/EU 10/2011
ECOLAB#HIZR:E

*EHRRBER



PMA

TEREERY

R HI 4 PR
Zgam iR

X-Series

207Exr

R H
mEEEE
&
EmfiEh

XR90 F:5I

2

fER%

REECE
B B
TR

XPCL#RS!

BR%E

XVCSTHRY £ R #
BEEHE
B &
RIS

fER%E
mEEEE

B B
TR

XSOLRI

fBR%S

REE | IZTE BRI ES
* EHIRIRER

: Polyamide 12
: -40°C ~+95°C (+150°CAERFE)
=g (B & #D
1. MiEERRIEE (400 BRE CERRED)
2. AEEIEETIH | BREEERLRIRETREDR

& T EEEERE

: Polyamide 6
: -50°C~+105°C (+160°CaHFmE)
ZE(E-ZR )
2 1. [7KEEEGS ~ 20 FERER

2. NEEBIBUR, ERE5EE
| RS R EE A mER iR

: Polyamide 6

: -50°C~+90°C (+120°CHIRFRE)

g (G~ %)

P 1. PUERAHR ~ MHEIEE ~ 20 2L E{ERER
2. NEBIBUR  EREEZB

| BIETRERRI ~ PIIRIR

: Polyamide 12
: -40°C~+95°C (+150°CHaRRE)
=B (R Bl %)
D 1. SR
2. UV ~ (BRESZEEIRIBER - 20F 2 EERTER
C BERRER ~ REEwH « PNRIR

7

*EHAR R R



PMA

MR

FERFREER A

wrEx | 20 | zme | PR0E | me menE DR pimy B 2
(D | 1 | P s i | v | v | ve | e
ovL | Poyamides | 0o 150 @il L | v TRV

N2 +160°C F2H5 SRR

O i : . e
%E%/l POSL | et | cvorm| R | v [ v [ M2 | fuv
f.;i.: = oS e BARDH [ o
g BEE| oy | Povamide12 | ericaormen | B/ | V| V| VO | el
mammEE| e | Ponas 12| 0o oe | B | Y mem | g
B nmen v | paicos | 0T g | v | V| ; fj@mﬁ) S eyl
EEA@Fm| XESX | Polyamide 12 ;ﬁ%&gﬁ%ﬁ% 2\ vV |V == ATEi%?C%%%%EE’é
@ ;85| EsD | Pobamidet2 | M0CTHOC | = | v A « MUV
N ma] o [ el a [ [y
20#7) =& | XPCL | Poyamide6 | 501080 | /e | v | v | 2 R IRABIE 20
A EmmE| VOH | Polamide 6 HC105C i | v | V| o BB
@ ua] ovs | o [0 ine mim| v | v | v oo
M Mifsak| PVD | PVDF -60°C~+150°C| &M v | vo | mE EE?ELT}EEE
sISstiRAEE | PPCOF | PovPORYEne\2OCC L O8Y | = Vo v s
IBREE | L66 | Poyamide66| OOt | v | v | 2 BT

”VOH” %5”

PMA ERFREE

BFERE S

L

—MREBRE

BLEER

PMA VOH RIIEIRIREE



i

i

(g o
|I.I'I.I-I-.-r-"-'nu-.““-..-.-_-_-._-.-.--- .
S LR

i/ B EREREE

731816 amwmE | Nw | omi | pa | 2ol 292 TERERSEEE
LLPA-07A 07 1/4" 07 62| 10.0| 15 | 50
LLPA LLPA-10A 10 | 5/16" 09 96| 180| 20 | 50
CE AVus @ LLPA-12A 12 3/8" 11 120 | 1568 | 380 | 50
lu% LLPA-17A 17 1/2" 16 162 | 212| 40 | 50
A | LLPA23A 23 | s@ 21 226 | 285| 45 | 50
LLPA-29A 29 1" 29 290 | 345| 55 | 50
LLPA-36A 36 | 1w 36 | 365| 425| 60 | 30
LLPA-48A 48 | 1'~2" | 48 | 475 | 545| 70 | 30
LLPAG-17A | 17 1/2" 16 15.8 | 21.2| 40 | 50
LLPAG-23A | 23 3/4" 21 219 | 285| 45 | 50
LLPAG-29A | 29 1" 29 | 276| 845| 55 | 50
LLPAG-36A | 36 | 1w 36 | 30| 425| 60 | 30
LLPAG-48A | 48 | 1%'~2' | 48 | 47.0| 545| 70 | 30
LLPAG-56A | 56 - - 56.3 | 67.2| 120 | 30
LLPAG-70A | 70 | 21 - 68.0 | 80.0| 160 | 10
LLPAG-95A | 95 | 3 - 91.9 | 106.0 | 210 | 10
LLPAG-125A | 125 5! - | 1265|1465 | 450 | 6
CYLT-07B 07 1/4" 07 62| 10.0| 15 | 50
CYLT-10B 10 | 5/16" 09 96| 180| 20 | 50
CYLT-12B 12 | gm 11 120 | 158 | 30 | 50
CYLT-17B 17 1/2" 16 162 | 212 | 40 | 50
CYLT-23B 23 | g4 21 226 | 285| 45 | 50
CYLT-298B 29 1" 29 290 | 345| 55 | 50
CYLT-368B 36 | 1w 36 | 365| 425| 60 | 30
CYLT-48B 48 | 1'~2" | 48 | 475 | 545 | 70 | 30
CYLG-23B 23 | @4 21 219 | 285| 45 | 50
CYLG-29B 29 1! 29 276 | 845| 55 | 50
CYLG-36B 36 | 1w 36 | 36.0| 425| 60 | 30
CYLG-48B 48 | 1v'~2" | 48 | 470| 545| 70 | 30
CYLG-56B 56 - - 56.3 | 67.2| 120 | 30
CYLG-70B 70 | 2w - 68.0 | 80.0| 160 | 10
I‘h - CYLG-95B 95 | 3w - 91.9 | 106.0 | 210 | 10
B CYLG-125B | 125 5] - | 1265|1465 | 450 | 6




PMA

P
o
— T BB G B
s | A
|2
PANARERFESE
#5278 gmws | Nw | oz | opg | SO 002 %:EfgnImR =
XPCSL XPCSLT-07BG | 07 1/4" 07 70| 100| 15 | 100
C € CIK | xpcsLT-10BG | 10 5/16" 09 99 | 128 20 50
— XPCSLT-12BG | 12 3/8" 11 123 | 156 | 25 50
XPCSLT-17BG | 17 1/2" 16 | 167 | 21.1| 30 50
XPCSLT-29BG | 29 qn 29 | 288 | 345| 50 50
XPCSLG-17BG| 17 1/2" 16 | 158 | 211 | 35 50
XPCSLG-23BG| 23 3/4" 21 221 | 284 | 45 50
XPCSLG-29BG| 29 1 29 | 279 | 345 55 50
XPCSLG-36BG| 36 11/ 36 | 368| 424 | 65 30
XPCSLG-48BG| 48 | 11'~2" 48 | 477 | s45| 85 30
ROBOTEHERIREE
#3121 amwmE | Nw | omi | pa | 2ol 292 TERER SRS
PIS/PIH PIST-07B 07 1/4" 07 6.2 10.0 15 50
. PIST-10B 10 | 516 09 96| 130| =20 50
C W pisT128 12 3/g" 11 119 | 158 | 25 50
PIST-17B 17 1/2" 16 | 16.4 | 211 | 30 50
PIST-23B 23 3/4" 21 206 | 284 | 35 50
PIST-29B 29 qn 29 | 200 | 343| 45 50
PIST-36B 36 174" 36 | 365]| 425| 60 30
PIST-48B 48 | 1vp~2r 48 | 475 | s45| 70 30
PISG-17B 17 1/2" 16 | 152 | 211 | 30 50
PISG-23B 23 3/4" 21 217 | 284 | 40 50
PISG-29B 29 1 29 | 279 | 347 | 50 50
PISG-36B 36 114 36 | 358 423| 60 30
PISG-48B 48 | 11p~2r 48 | 467 | B42| 70 30
PIHG-568 56 - - 56.3 | 67.2| 110 30
Cpm PIHG-70B 70 215 - 67.2 | 79.6 | 150 30
4 PIHG-95B 95 315" - 91.3 | 106.0 | 170 30
- PIHG-125B | 125 5" - |1265 | 1465 | 350 20

10



o
i/ .'4"".“.-:,-
I"I.I.'I|.|.;.I{I{II|I.I|:I T m—

ML S

REEFHAERREE

. = e ¢ di ¢pd2 EfYER| BEREE
Z 3 = o \ =hE
. JFBDT12C01 | 12 3/8" 11 11.8 16.0 70 50
JFBD (€ A\
JFBDG-17C01 | 17 1/2" 16 15.6 216 85 50
JFBDG-23C01 | 23 3/4" 21 217 28.8 110 50
JFBDG-29C01 | 29 1 29 27.4 34.7 140 50
JFBDG-36C01 | 36 1y 36 35.8 427 200 30
JFBDG-48C01 | 48 | 14'~2" 48 46.7 54.6 230 30
s & = o 20 B 2 sgE e
HEERE/EIINESHERERES
- = . ¢ di ¢pd2 |EEYER| BEREN
= | ) 5 E 2 3 \ P 4
7ﬁ‘§J %*ﬁ D]‘,%E})ﬁhﬁ% NW 9&[” PG (mm) (mm) (E?Eg\)mm (*)
VAML VAMLT-07B | 07 1 /4" 07 6.7 10.0 15 50
- VAMLT-10B | 10 | 5/16" 09 9.7 12.8 20 50
C€ Gmmmm A VAMLT-128 | 12 | 38 11 12.1 15.6 25 50
‘ VAMLG-17B | 17 1/2" 16 15.8 21 1 40 50
VAMLG-23B | 23 3/4" 21 21.9 28 4 50 50
VAMLG-29B | 29 T 29 27.9 345 60 50
VAMLG-36B | 36 114" 36 36.2 42 4 75 30
VAMLG-48B | 48 | 114'—2' | 48 47.0 54.5 90 30
VAMLG-56B | 56 _ - 56.9 675 120 30
VAMLG-70B | 70 o1 - 68.0 79.6 140 10
g ﬁ VAMLG-95B | 95 31 - 925 | 107.0 190 10
VAMLG-1258 125 5" - 126.9 | 146.0 260 6
SR =% T S v
U Ll:vL‘AuE Ea.ﬁf%nz B
_ . ¢ di ¢pd2 EHYER| BEREEN
= E 2 3 \ T v
SRR | NW | RIT | PG ) mm) @mm | R
CUSG-17B | 17 1/ 16 15.2 212 40 | 31/100
CUSG-23B | 23 3/4" 21 21.9 285 45 | 31/100
CUSG-29B | 29 L 29 276 345 55 |31/100
CUSG-36B | 36 114" 36 36.0 425 60 |31/100
CUSG-48B | 48 | 1v'~2'| 48 47.0 545 70 | 31/100

11



PMA

oo
o
— T B G B
L
|2
pris/ CiEEEE A ERRE
75127 mmws | Nw | omi | oee | SOL 2d8 SRR EREE
XESX0250 10 5/16" 09 9.2 12.8 2l5 50
XESX0350 12 3/8" 11 11.8 15.6 30 50
XESX0450 17 1/2" 16 15.2 21.0 35 50
XESX0550 23 3/4" 21 22.0 28.5 40 50
XESX0650 29 1" 29 27.5 34 .4 50 50
XESX0730 | 36 114" 36 358 | 42.4 60 30
XESX0830 | 48 | 11p'~2" 48 46.8 | 54.4 70 30
5P (ESD) BiRIRE
— T
5128 mmEs | Nw | = | ea | SO0 002 T;Efr‘nm =
ESDT-07B 07 1/4" o7 6.2 10.0 15 50
ESD ESDT-10B 10 5/16" 09 9.6 13.0 20 50
Z ESDT-12B 12 3/8" 11 12.0 15.8 30 50
ESDT-17B 17 1/2" 16 16.4 21.1 40 50
ESDT-23B 23 3/4" 21 22.6 28.4 45 50
ESDT-29B 29 1" 29 29.0 34.3 55 50
ESDT-36B 36 14" 36 36.5 42 .5 60 30
ESDT-48B 48 114"~2" 48 47 .5 54.5 70 30
ESDG-568B 56 - - 56.5 67.0 110 30
ESDG-70B 70 214" - 67.5 80.0 150 10
ESDG-95B 95 315" - 91.5 106.0 170 10
BREATREEHFRRE
—
751318 mmwE | Nw | omop | oea | 29T 0d2 BECERERSE
XPCLT-10BB 10 5/16" 09 9.6 13.0 20 50
XP XPCLT-12BB 12 3/8" 11 11.8 15.6 30 50
XPCLT-17BB 17 1/2" 16 16.6 21.0 40 50
XPCLG-17BB 17 1/2" 16 15.6 20.9 40 50
XPCLG-23BB 23 3/4" 21 21.9 28.5 45 50
XPCLG-29BB 29 1" 29 27.6 34.5 55 50
Shove XPCLG-36BB 36 114" 36 36.0 425 60 30
2 OYEAR XPCLG-48BB| 48 | 11p'~2" 48 47.0 54.5 70 30




BREEAERREE

51318 mmwE | Nw | omi | oeo | 29T 002 TESEREREE
PHTT-07B 07 1/4" 07 6.2 10.0 15 50
PHTT-10B 10 | 5/16" 09 9.6 13.0 20 50
PHTT-12B 12 3/8" 11 12.0 15.8 30 50
PHTT-14B 14 = 13.5 14.2 18.5 35 50
PHTT-17B 17 1/2" 16 16.2 21.2 40 50
PHTT-23B 23 3/4" 21 22.6 28.5 45 50
PHTG-17B 17 1/2" 16 15.2 21.2 40 50
PHTG-23B 23 3/4" 21 22.0 28.5 45 50
PHTG-29B 29 e 29 27.7 34.5 55 50
d PHTG-36B 36 e 36 35.8 42.5 60 30
PHTG-48B 48 115620 48 46.8 54.5 70 30
SR/ IR SRRES
#5151 amwE | Nw | @i | oeo | fel 002 TESERSEEE
VOH VOHD-07B 07 1/4" 07 5.8 10.0 20 50
_ c € VOHD-10B 10 5/16" 09 9.0 13.0 25 50
VOHD-12B 12 3/8" 11 11.6 15.8 30 50
VOHG-17B 17 1/2" 16 14.5 21.0 40 50
VOHG-23B 23 3/4" 21 21.1 28.5 50 50
VOHG-29B 29 1" 29 26.6 34.5 60 50
VOHG-36B 36 1Va" 36 35.0 42.5 70 30
VOHG-48B 48 11e"~2" 48 46.5 54.5 80 30
VOHG-56B 56 - = 55.5 67.2 135 10
VOHG-70B 70 215" = 67.0 80.0 200 10
o VOHG-95B 95 31" = 90.5 106.0 300 10
mmmm_% VOHG-125B| 125 & = 126.0 146.5 480 6

13




PMA

oo
I 1
—] T BUEIE G BUEfE
s | dl ;
|2
IEE-ﬁ SEE S
M e iR R e
- . o ¢ di $pd2 EFER| BDREN
7251 ] STRES £ \ T N
PVD C € PVDT-07B o7 1/4" o7 7.0 9.9 15 50
PVDT-10P 10 5/16" 09 9.5 12.6 20 50
PVDT-12P 12 3/8" 11 11.8 18,8 30 50
‘ _ PVDT-17P 17 1/2" 16 16.0 20.8 40 50
' “ PVDT-23P | 23 3/4" 21 226 | 280 45 50
‘ PVDT-29P 29 1" 29 29.0 34 .1 50 50
kw1 —téﬁvﬁ SEES
IR\ SR REE
- - o ¢ dl ¢d2 EEREER| BEREN
7251 ] STRES T \ — X
7\('\\§J %iﬁ'ﬂ Djlﬁﬁﬁ.ﬁ% NW %Dj PG (mm) (mm) (E?%{)mm (7k>
PPCOF-07B o7 1/4" o7 56 10.0 25 50
PPCOF PPCOF-10B 10 5/16" 09 8.5 12.8 28 50
PPCOF-12B 12 3/8" 11 11.0 15.6 35 50
PPCOF-17B 17 1/2" 16 15.1 21.1 45 50
PPCOF-23B 23 3/4" 21 22.1 28.4 60 50
PPCOF-29B 29 1" 29 26.6 34.5 100 50
PPCOF-36B 36 114" 36 31.8 42 .4 120 30
PPCOF-48B 48 112" ~2" 48 43.9 54 1 140 30
PPCOF-70B 70 214" - 60.5 78.0 200 10
= : s SEE S
=i E RS RS
- - S I min.¢ max.¢ == BB
716\‘§” % *ﬁ El]- E% 'EE ﬁl% NW TI:I @E*‘lﬁ‘ﬁ?&»ﬁ (mm) (mm) kg/1 OOm (ﬂé)
L.66.04SW 04 = 4.0 7.0 0.4 100
L'6 L.66.08SW 08 SRER-06 5.0 10.0 0.5 100
L.66.10SW 10 SRER-06 7.0 13.0 0.8 50
L.66.16SW 16 SRER-16 11.0 20.0 0.9 50
L.66.20SW 20 SRER-16 17.0 33.0 1.3 50
L.66.25SW 25 SRER-21/SRER-29 21.0 34.0 1.5 50
L.66.30SW 30 SRER-21/SRER-29 25.0 45.0 1.8 50
L.66.40SW 40 SRER-29 31.0 55.0 1.9 50
L.66.50SW 50 SREV-40/SRER-50 58.0 70.0 2.9 50

14




PMA

EORITIE

HEORiERR

1—
e—

Y

'-:-.-'.-'.-'i

-t
LT UTLTT

iy

AT

45° EIZIETE

Y iERE

FEIEF ZOREA L ERE E AR A

(REF;  HABRLEEED)

IP66°IP68GT &5\ :

B EAEE RS -
B T 3 G BERREE

HA—EHA -

(B)1ZEE (IP6SGTAEMIINEIR)
~ (C)3EF ~ (D)EF (for IPESGT)

<0
_a®

TS EIRIREE (AFEINHEHEA
EEB)IIE

IWERE ST RERRRR EEE -
(ZE2ZED)

5F 1 IP68 "GT" hRAIZEE5HL IP6SIEIASTBMRIRA EEM L "GT" » HINVNV-M120E0ANVN

IP68 RES5 :

A -
S5 © B sEpKEE
5N = rEER
% = =
PIREIR FEIRD BT 1P6S -
2E i EE; N W
g;gg;@ HEHE (BT %\fggéﬁ
) SEY , BESZ 0H o
SEP (25 RN R et
= SRR » S |
EHEOEE i _ -
REKER) (DD
B NEINaDS IP68-+IP69K FHHC/5\ -
_I') _}er\J_‘ J_f ~r Q‘-‘“

* IP69K(DIN 40050-9)BIEHZ £ EA S AR [R5 IP69(IEC 60529)

R - B|EITH (B) ~ 88 (C) »

Bh7KZ2HE (D)

B

c
15 SIS AV EIRRFEE BT
(A+B) HEAREE (C) A

CLICK!

EBITTHR T S /AR BT
F ERVSHREMIBISIR ST EEE

SEEETE  EE TR EAL
1B (N N ERR)

TSRFEE B —SHE S L 5

15



PMA

=55 IP68+I1P69K 5K R

* E)REEAERRRF IRIRETEER] IP68+IPEOKBHFEER °
o [REHEAIVIEREZET > BIRAETH -

* 360" FViBMF - TMISEKIEHE (FRA 100bar). o ; :h
* ZEITRAMRELET - FIEFIE T REITAFHZE L .

= o . mm Ht
731278 amss ww|ose | o=w| o 0T IEE
'/ 4L S NKNH-M120-10 10 | M12X1.5 5/16" 55 | 10.0 | 256.0 | 45.0 22 50
EBEEE (IAEIJE) NKNH-M160-10 10 | M16X1.5| 5/16" 95 | 10.0 | 25.0 | 45.0 22 50
NKNH-M162-10 12 | M16X1.5 3/8" 95 | 10.0 | 28,5 | 50.5 25 50
NKNH-M202-10 12 | M20X1.5 3/8" 125 | 10.0 | 28,5 | 50.5 25 50
NKNH-M207-10 17 | M20X1.5 1/2" 13.5 | 10.0 | 35.0 | 56.0 32 50
NKNH-M257-11 17 | M25X1.5 1/2" 16.5 | 11.0 | 35.0 | 57.0 32 50
NKNH-M253-11 23 | M25X%X1.5 3/4" 185 | 11.0 | 42.0 | 59.5 38 30
NKNH-M323-13 23 | M32X1.5 3/4" 23.0 | 13.0 | 43.0 | 61.5 38 30
NKNH-M329-13 29 | M32X%X1.5 1" 255 | 13.0 | 51.5 | 67.0 46 20
NKNH-M409-13 29 | M40X1.5 1" 29.0 | 13.0 | 53.0 | 68.5 46 20
NKNH-M406-13 36 | M40X1.5 Iz 325 | 13.0 | 5.0 | 74.0 60 20
NKNH-M506-14 36 | M50X1.5 14" 37.0 | 14.0 | 5.0 | 75.0 60 20
NKNH-M508-14 48 | MBOX1.6| 112"'~2"| 42.0 | 14.0 | 756.0 | 81.0 70 10
Cae NKNH-M638-14 48 | M63X1.5| 112'~2"| 48.56 | 14.0 | 75.0 | 81.0 70 10
- R - (mm) B
E Ikt sIFRSRIR Nw| FR I EW| S D A B G Sw| B
45‘,%%&% (,1-_\\5“5) NKAH-M120-10 10 | M12X1.5| 5/16" 5.5/10.0| 25.0| 55.5| 43.0/33.0f 14 | 50

NKAH-M160-10 10 | M16X1.5| 5/16" 9.5|10.0| 25.0| 55.5| 45.0/33.0f 14 | 50
NKAH-M162-10 12 |[M16X15| 3/8" 9.5/10.0| 28.5| 62.5| 50.0{38.0| 17 | 50
NKAH-M202-10 12 |[M20x15| 3/8" |12.5/10.0|28.5| 625/ 52.0/38.0| 17 | 50
NKAH-M207-10 17 |[M20Xx15| 1/2" | 13.5/10.0|35.0| 71.0| 59.5|45.0| 22 | 50
NKAH-M257-11 17 |M25X15| 1/2" | 17.0|{11.0| 35.0| 72.0| 625|/45.0| 22 | 50
NKAH-M253-11 23 |M25X15| 3/4" |18.5|/11.0|43.0| 80.0| 68.0/50.5| 28 | 30
NKAH-M323-13 23 | M32X15| 3/4" |23.0/13.0|43.0| 82.0| 72.0/50.5| 28 | 30
NKAH-M329-13 29 | M32X1.5 1" 25.0|/13.0| 51.5| 93.0| 79.5/58.0| 36 | 20
NKAH-M409-13 29 | M40X1.5 1" 29.0|13.0| 55.0| 94.5| 855|58.0| 36 | 20
NKAH-M406-13 36 | M40X15| 1% | 32.5/13.0/61.0/1056.5| 93.5/66.0| 46 | 20
NKAH-M506-14 36 | M50X1.5| 1% |37.5/14.0|65.0/106.5| 98.5|66.0| 46 | 20
NKAH-M508-14 48 | M50X1.5 | 114'~2"| 41.0/14.0| 73.0(120.0{110.0| 76.0| 55 | 10
NKAH-M638-14 48 | MB3X 1.5 [ 114'~2"| 48.5|14.0| 73.0/120.0{114.0| 76.0| 55 | 10

_ S - (mm) FES
=5 B STEBSRIS NW| F38 E=llin) o
RIIBR ’ ¢D g A B #C #D R sw FU
§§H$E§E ( ﬂﬁug ) NKBH-M120-10 10 | M12X 15| 5/16" 5.0/ 10.0| 44.0| 62.5|25.0| 20.0|25.5| 12 50
o¥) 4

NKBH-M160-10 10 | M16X1.5| 5/16" 9.0[10.0| 44.0| 645/ 25.0|24.0[255| 12 | 50
NKBH-M162-10 12 | M16X1.5]| 3/8" 8.0/ 10.0| 47.5| 72.0/28.5|24.0/28.0| 15 | 50
NKBH-M202-10 12 | M20X1.5| 3/8" [11.8|10.0| 47.5| 74.0/28.5|28.0{28.0| 15| 50
NKBH-M207-10 17 | M20X1.5| 1/2" [11.5|10.0| 53.0| 81.0/35.0(29.0{29.5| 20 | 50
NKBH-M257-11 17 | M25X1.5| 1/2" |16.5[11.0| 54.0| 84.0/ 356.0| 35.0{29.5| 20 | 50
NKBH-M253-11 23 | M25X15| 3/4" |16.0/11.0| 63.0] 92.0/43.0| 35.0|35.0| 26 | 30
NKBH-M323-13 23 | M32X1.5| 3/4" |22.5|13.0| 65.0| 96.0{ 43.0( 43.0|/35.0| 26 | 30
NKBH-M329-13 29 | M32X1.5 1" 23.0(13.0| 75.0{108.0| 51.5| 43.0(41.5| 33 | 20
NKBH-M409-13 29 | M40X1.5 1" 28.5|13.0| 76.5|114.0| 51.5|55.0(41.5| 33 | 20
NKBH-M406-13 36 | M40X1.5| 1" |29.5|13.0| 87.5(126.0| 60.5| 55.0| 49.0 | 41 20
NKBH-M506-14 36 | M50X1.5| 1" |37.0|14.0| 88.5/131.0| 60.5| 65.0|49.0 | 41 20
NKBH-M508-14 48 | M50X 1.5 | 114"'~2"| 38.5| 14.0|101.0|145.5| 73.0| 69.0| 55.5| 55 | 10
NKBH-M638-14 48 | M63X1.5| 14"'~2"| 48.0| 14.0|101.0|148.5| 73.0| 75.0| 55.5| 55 | 10

16 SENEEEETERE. BRI RERESR




PMA

=5 1P68+IP69KpAK#ES

* E)REEAERRRF IRIRETIEER] IP68 +IPOKBHFEER °
o [REHEAIVIEREZET » BIRAETHS -

o 360°BBEMRL » TIMIASEKHEREE (A 100ban). v -:h
o ZRIRIRRE - BERET SRR - %

%

o E [} S (mm) B
RFEDE (QHIF) | STERE Nw | F] (R ,0 o uome L sw (Bl
NKIS-M162 12 | M16X1.5| 3/8" |13.5] 9.0/28.5/49.0| 25 | 50

NKIS-M207 17 | M20X1.5| 1/2" [18.0{10.5(35.0/56.0| 32 | 50

NKIS-M253 23 | M25X1.5| 3/4" |23.0/10.5|43.0{58.5| 38 | 30

NKIS-M329 29 | M32X15| 1" [30.0/11.0|51.5|/655| 46 | 20

CE A s

NKIS-M406 36 | M40X1.5( 1" |38.0/13.5|60.5|72.0| 46 | 20

b e NKIS-M508 48 | M50X1.5|1"2"~2"48.0(/15.0|73.0|83.0| 60 | 10

NKIS-M638 48 | MB3X1.5|114"~2"50.5|17.5|75.0{84.0| 70 | 10

=Tpo oo (mm) 253
Ejﬁﬁﬁ% NW P_-F%E 9& D‘j g ¢|D ¢AD L Efﬁ

BKIHG-U212 | 12 | 7/8"-20 UNEF | 3/8" 9.0|12.5|28.5|47.0| 50
BKIHG-U217 | 17 | 7/8"-20 UNEF | 1/2" 9.0|13.0|35.0| 52.5| 50
BKIHG-U242 | 12 1"-20 UNEF 3/8" 9.0|12.5|31.0| 47.0| 50
BKIHG-U243 | 23 1"-20 UNEF 3/4" 9.0|17.0|43.0| 55.,5| 30
BKIHG-U247 | 17 1"-20 UNEF 1/2" 9.0|16.5|35.0| 52.5| 50
BKIHG-U292 | 12 | 1%:¢'-18 UNEF| 3/8" 9.0|12.5|36.0| 50.5| 50
BKIHG-U293 | 23 | 1%"-18 UNEF| 3/4" 9.0|21.0|43.0| 55.5| 30
BKIHG-U297 | 17 | 1%:¢'-18 UNEF| 1/2" 9.0|16.5|36.0| 52.5| 50
BKIHG-U299 | 29 | 1%:¢'-18 UNEF| 1" 9.0|21.0|51.5|61.0| 20
BKIHG-U353 | 23 | 17:¢'-18 UNEF| 3/4" 9.0(23.0(43.0|55.5| 30
BKIHG-U357 | 17 | 174618 UNEF| 1/2" 9.0[16.5(43.0|58.0| 50
BKIHG-U359 | 29 | 17/¢"-18 UNEF| 1" 9.0(28.0(51.5|61.0| 20
BKIHG-U433 | 23 | 13418 UNS | 3/4" [10.0|23.0|51.5| 62.5| 30
BKIHG-U439 | 29 | 134"-18 UNS 1" 10.0 [29.0| 51.5| 62.0| 20
BKIHG-U503 | 23 2'-18 UNS 3/4" 110.0[23.0|58.0| 67.0| 30
BKIHG-U506 | 36 2'-18 UNS 1" 110.0 |37.0{60.5| 67.0| 20
BKIHG-U508 | 48 218 UNS [ 1%2"~2"[10.0 [42.0| 73.0| 73.5| 10
BKIHG-UB09 | 29 2'-18 UNS 1 10.0{29.0|58.0| 67.5| 20
BKIHG-U566 | 36 24"-16 UN 1v" 110.0|37.0(65.0| 72.0| 20
BKIHG-U568 | 48 2416 UN | 17%"~2"110.0|48.0| 73.0| 73.5| 10

W T WS Nw | TR | m oo ™o Bk
KNH2-NW10 | 10 M12 5/16" 28.0 22.0 50

i - = KNH2-NW12 | 12 M16 3/8" &85 255.5 50
KNH2-NW17 | 17 M20 1/2" 38.5 &1.8 50

KNH2-NW23 | 23 M25 3/4" 41.0 38.5 30

KNH2-NW29 | 29 M32 1" 46.5 46.5 20

KNH2-NW36 | 36 M40 14" 50.5 5515 20

KNH2-NW48 | 48 | M50 | 11£'~2" | 56.5 68.0 | 10
17




Ef2iEiR (€ N

RIEH amws W TR | =W Ejb g 4D oL s S?ﬁ
MH (ASIF) BVND-M12mGT | 07 | M12X15 1/4" 13 111.0]20.0| 34.5| 14 | 100
BVND-M120GT 10 | M12X15] 5/16" 13 111.0]120.0| 36.5| 17 | 100

I | BUND-M160GT 10 | M16X15| 5/16" 17 [11.0]123.0| 36.5| 17 | 100

BVND-M162GT 12 | M16X1.5 3/8" 17 [11.0]1 23.5| 39.5| 20 | 100

— H BVND-M200GT 10 | M20X15| 5/16" 21 111.0126.0| 36.5| 17 | 100

= E BVND-M202GT 12 | M20X 1.5 3/8" 21 111.0]26.0| 39.5| 20 | 100

= BVND-M207GT 17 | M20X 1.5 1/2" 21 111.01 295 | 47.5| 26 | 100

BVND-M203GT | 23 | M20X1.5| 3/4" 21 |111.0|37.0| 561.0| 32 50

BVND-M257GT 17 | M25X1.5 1/2" 26 [ 12.0|32.0| 48.5| 26 | 100

BVND-M253GT | 23 | M25X15| 3/4" 26 |112.0|37.0| 52.0| 32 50

BVND-M323GT | 23 | M32X15| 3/4" 33|15.0|43.0| 65.5| 32 50
BVND-M329GT | 29 | M32X1.5 1" 33 |15.0|44.0| 66.0| 40 30
BVND-M409GT | 29 | M40X1.5 1" 41 119.0|49.0| 60.0| 40 30

BVND-M406GT | 36 | M40X1.5| 14" 41 119.0|55.0| 72.5| 50 20
BVND-M506GT | 36 | M50X1.5| 114" 51119.0|59.0| 72.0| 50 20

BVND-M508GT | 48 | M50X1.5| 114"~2" | 51 [19.0 | 69.0 | 72.5| 65 10

BVND-M638GT | 48 | M63X1.5| 114'~2" | 64 |19.0 | 75.0| 72.0| 65 10

PS J (75) BVND-GOOMGT | 07 | 1/4" 1/4" | 14 [11.0]20.0|345| 14 |100
BVND-GOOOGT | 10| 1/4" | 516" | 14 [11.0[20.0| 365 17 |100

E BVND-GO10GT | 10| 3/8" | 516" | 18 |11.0[23.0|36.5| 17 |100
BVND-GO12GT | 12| 3/8" 3/8" | 18 11.0(23.5|39.0| 20 |100

BVND-G022GT | 12| 1/2" 3/8" | 2213.0(26.0|41.0| 20 |100

e BVND-GO27GT | 17| 1/2" 1/2" | 22 [13.0|29.5| 495 26 |100
BVND-GO043GT | 23| 3/4' 3/4" | 27 [14.0(37.0| 540| 32 | 50

BVND-GOB9GT | 29| 1" 1" | 34|15.0|44.0|56.0| 40 | 30

BVND-GO76GT | 36 | 1V 1V | 42 [18.0(55.0| 71.0| 50 | 20

BVND-GO088GT 48 112" 12'~2"| 48 |18.0|69.0| 71.5| 65 10

BVND-G098GT 48 2" 12"'~2"| 60 | 18.0 | 69.0| 71.5| 65 10

18



PMA

Bl (€ N

- _ IP66 IR g | T30 (mm) B
RIBHE gmmE | "W pc| 2" |RY| o eDme L sw | B
BVND-PO7mGT-11| 07 07| 1/4" | 18 |110] 165|345 14 | 100
PG ZF (=515) BVND-PO7mGT-8 | 07 07| 1/ | 13| 80| 165|31.5| 14 | 100
BVND-PO70GT-11 | 10 07| 5M16' | 13 | 11.0]| 200|365 17 | 100
BVND-P070GT-8 10 07| 516" | 18 | 80| 200|335 17 | 100

L BVND-PO72GT-11 | 12 07| am | 18 |11.0| 235|390 20 | 100
BVND-P072GT-8 12 07| 38 | 13| 80|235|360]| 20 | 100
BVND-POOmMGT-11| 07 09| 1/4" | 16 |11.0| 200|345 14 | 100

.} [BVND-POOMGT-8 | 07 09| 1/4" | 16 | 80| 200|315 14 | 100
2| [BVND-PO9OGT-11 | 10 09| 5H16' | 16 | 11.0]| 200|365 17 | 100
2| [ BVND-P0O90GT-8 10 09| 516' | 16 | 80| 200|335 17 | 100
BVND-P092GT-11 | 12 09| a3/ | 16 |11.0| 235|390 20 | 100
BVND-P092GT-8 12 00| a8 | 16 | 80| 235|360 20 | 100
BVND-PO97GT-11 | 17 09| 1/2" | 16 |11.0]| 295|475 26 | 100
BVND-PO97GT-8 17 09| 1/2' | 16 | 80| 295|445 26 | 100
BVND-P11mGT-11| 07 11| 1/4° | 19 | 11.0| 230 345]| 14 | 100
BVND-P11mGT-8 | 07 11| 1/4° | 19| 80|230]315]| 14 | 100
BVND-P110GT-11 | 10 11| 516 | 19 | 11.0] 230]365] 17 | 100
BVND-P110GT-8 10 11| 546 | 19| 80| 230]|335]| 17 | 100
BVND-P112GT-11 | 12 11| 38 | 19 |11.0| 235]39.0| 20 | 100
BVND-P112GT-8 12 11| 38 | 19| 80|235|360]| 20 | 100
BVND-P117GT-11 | 17 1] 1/2° | 19 | 110|295 475] 26 | 100
BVND-P117GT-8 17 11| 1/2° | 19| 80| 295]|445]| 26 | 100
BVND-P13mGT-11| 07 | 135| 1/4" | 21 | 11.0| 26.0| 34.5| 14 | 100
BVND-P13mGT-8 | 07 |135| 1/4" | 21 | 80| 260|315 14 | 100
BVND-P130GT-11 | 10 |1385| 516" | 21 | 11.0| 260|365 17 | 100
BVND-P130GT-8 10 | 135]| 5A6 | 21 | 80| 260|335]| 17 | 100
BVND-P132GT-11 | 12 | 135| 3/8" | 21 | 11.0] 26.0| 39.0| 20 | 100
BVND-P132GT-8 12 |135]| a/8 | 21| 80| 260|360 20 | 100
BVND-P137GT-11 | 17 |1385| 1/2° | 21 | 11.0| 2956|475 26 | 100
BVND-P137GT-8 17 |135]| 1/2° | 21 | 80| 295 445]| 26 | 100
BVND-P160GT-11 | 10 16| 516" | 23 | 11.0| 295|365 17 | 100
BVND-P160GT-8 10 16| 516" | 23| 80| 295]|335]| 17 | 100
BVND-P162GT-11 | 12 16| 3/ | 23 |11.0|275]|390]| 20 | 100
BVND-P167GT-11 | 17 16| 1/2° | 23 |11.0| 295 475]| 26 | 100
BVND-P167GT-8 17 16| 1/2° | 23| 80| 295]|445]| 26 | 100
BVND-P163GT-11 | 23 16| 34 | 23 |11.0|370]510] 32| 50
BVND-P163GT-8 | 23 16| 3/4 | 23| 80|370]|480] 32 | 50
BVND-P213GT 23 21| a4 | 20 | 120| 370|520 32 | 50
BVND-P296GT 36 20| 1w | 37 | 12.0|54.0|675| 50 | 20
BVND-P299GT 29 29 T 37 | 12.0| 440|530 40 | 30
BVND-P366GT 36 36| 1% | 47 | 130|550|660| 50 | 20
BVND-P368GT 48 36| 1/2—2' | 47 | 13.0|690|685| 656 | 10
BVND-P428GT 48 42 | 1v2~2' | 54 | 130| 690|685 656 | 10
BVND-P488GT 48 48 | 1v2—2' | 60 | 13.0| 690|665 656 | 10

19




90° EfizizaE (€ M

IP66 NW Fig = 7 (mm) BE

STEEERNS g ¢Dmax. A B | B

BVWD-M12mGT 07 M12X1.5 1/4" 11.0 16.5 32.0 35.0 100

BVWD-M120GT 10 M12X1.5 5/16" 11.0 20.0 34.0 39.5 50

BVWD-M160GT 10 M16X1.5 5/16" 11.0 22.0 34.0 40.5 50

BVWD-M162GT 12 M16%x1.5 3/8" 11.0 23.5 38.5 46.0 50

BVWD-M200GT 10 M20X1.5 5/16" 11.0 26.0 34.0 42.5 50

BVWD-M202GT 12 M20X%x1.5 3/8" 11.0 26.0 38.5 47.5 50

BVWD-M207GT 17 M20X1.5 1/2" 11.0 29.5 43.5 58.5 50

BVWD-M253GT 23 M25X1.5 3/4" 12.0 37.0 54.0 65.0 30

BVWD-M329GT 29 M32X1.5 1" 15.0 44.0 64.5 73.0 20

BVWD-M406GT 36 M40X%x1.5 1" 1910 53.5 78.0 96.0 20

BVWD-M508GT 48 M50 X 1.5 1"~2" 19.0 66.0 91.5 | 106.0 10

BVWD-PO7mGT-11 o7 PG7 1/4" 11.0 16.5 32.0 35.0 100

BVWD-PO7mGT-8 07 PG7 1/4" 8.0 16.5 29.0 35.0 100

BVWD-PO70GT-11 10 PG7 516" 11.0 20.0 34.0 39.5 50

BVWD-PO70GT-8 10 PG7 5/16" 8.0 20.0 31.0 39.5 50

|‘ ’ ‘| BVWD-P0O72GT-11 12 PG7 3/8" 11.0 23.5 38.5 44.5 50
| | | == 'IF BVWD-P0O72GT-8 12 PG7 3/8" 8.0 23.5 35.5 44.5 50
! i LB BVWD-PO9MGT-11 07 PG9 1/4" 11.0 20.0 32.0 36.5 100
| l l_\ ‘ = a BVWD-PO9MGT-8 07 PG9 1/4" 8.0 20.0 29.0 36.5 100
= 1B BVWD-P0O90GT-11 10 PG9 5/16" 11.0 20.0 34.0 39.5 50
7 g BVWD-P0O90GT-8 10 PG9 5/16" 8.0 20.0 31.0 39.5 50
BVWD-P092GT-11 12 PG9 3/8" 11.0 23.5 38.5 44.5 50

BVWD-P092GT-8 12 PG9 3/8" 8.0 23.5 35.5 44.5 50

BVWD-P11mGT-11 07 PG11 1/4" 11.0 23.0 32.0 38.0 100

BVWD-P11mGT-8 07 PG11 1/4" 8.0 23.0 29.0 38.0 100

BVWD-P110GT-11 10 PG11 5/16" 11.0 23.0 34.0 41.0 50

BVWD-P110GT-8 10 PG11 5/16" 8.0 23.0 31.0 41.0 50

BVWD-P112GT-11 12 PG11 3/8" 11.0 23.5 38.5 46.0 50

BVWD-P112GT-8 12 PG11 3/8" 8.0 23.5 35.5 46.0 50

BVWD-P13mGT-11 o7 PG13.5 1/4" 11.0 26.0 32.0 39.5 50

BVWD-P13mGT-8 07 PG13.5 1/4" 8.0 26.0 29.0 39.5 50

BVWD-P130GT-11 10 PG13.5 516" 11.0 26.0 34.0 42.5 50

BVWD-P130GT-8 10 PG13.5 5/16" 8.0 26.0 31.0 42.5 50

BVWD-P132GT-11 12 PG13.5 3/8" 11.0 26.0 38.5 47.5 50

BVWD-P132GT-8 12 PG13.5 3/8" 8.0 26.0 35.5 47.5 50

BVWD-P137GT-11 17 PG13.5 1/2" 11.0 29.5 43.5 58.5 50

BVWD-P137GT-8 17 PG13.5 1/2" 8.0 29.5 40.5 58.5 50

BVWD-P167GT-11 17 PG16 1/2" 11.0 29.5 43.5 58.5 50

BVWD-P167GT-8 17 PG16 1/2" 8.0 29'5 40.5 58.5 50

BVWD-P213GT 23 PG21 3/4" 12.0 37.0 54.0 67.0 30

BVWD-P299GT 29 PG29 1" 12.0 44.0 61.5 74.5 20

BVWD-P366GT 36 PG36 14" 13.0 53.5 72.0 98.0 20

BVWD-P488GT 48 PG48 1"~2" 13.0 69.0 855 | 111.0 10

BVWD-GOOMGT o7 1/4" 1/4" 11.0 16.5 32.0 | 36.5 50

PS 5 (FEHF) BVWD-GO00GT 10 1/4" 5/16" 11.0 20.0 34.0 | 39.5 50
4 BVWD-G010GT 10 3/8" 5/16" 11.0 20.0 34.0 | 40.5 50

i 5 BVWD-G012GT 12 3/8" 3/8" 11.0 23.5 38.5 | 46.0 50
BVWD-G022GT 12 1/2" 3/8" 13.0 26.0 405 | 475 50

BVWD-G027GT 17 1/2" 1/2" 13.0 29.5 45.5 | 58.5 50

BVWD-G043GT 23 3/4" 3/4" 14.0 37.0 56.0 | 66.5 30

BVWD-GO069GT 29 1" 1" 15.0 44.0 645 | 735 20

BVWD-GO076GT 36 1va" 1va" 18.0 53.5 77.0 | 96.0 20

BVWD-G088GT 48 11" 1v2'~2" 18.0 66.0 90.5 | 106.0 10

BVWD-G098GT 48 2" iNVZis2s 18.0 69.0 90.5 | 111.0 10

20 SENPTHRER - TLRYESE18 ~ 198



PMA

45° Efiz %Y

D)

C€ M

ol

RI=HE gjllﬂ;?gﬁ% NW | HFig U ¢Dm$m) A B g?é
M F (a%15) BVAD-M120GT | 10 |M12Xx1.5| 5/16' | 11.0(20.0 | 435| 37.0| 50
BVAD-M160GT | 10 |M16Xx1.5| 5/16" | 11.0|20.0 | 43.5| 38.0| 50

- BVAD-M162GT | 12 |[M16X1.5| 38" | 11.0|235| 47.5| 41.0| 50
BVAD-M202GT | 12 |M20x1.5| 3/8" | 11.0|26.0| 47.5| 425| 50

BVAD-M207GT | 17 |M20x1.5| 1/2' | 11.0|29.5| 57.5| 52.5| 50

BVAD-M253GT | 23 |M25x1.5| 3/4' | 12.0|37.0| 66.0| 59.5| 30

BVAD-M329GT | 29 |M32x15| 1" 16.0 | 44.0 | 745| 67.0| 20

BVAD-M406GT | 36 |M40x15| 1v' | 19.0(530| 925| 85.5| 20

BVAD-M506GT | 36 |M50x15| 1% | 19.0|53.0| 925 89.5| 20

BVAD-M508GT | 48 |M50x1.5| 11£'~2"' | 19.0 | 66.0 [100.0| 96.0| 10

BVAD-M638GT | 48 |M63x1.5| 114'~2" | 19.0 | 65.0 |100.0{104.0| 10

PG J (=515) BVAD-PO0GT | 10 | PG 9 5/16' | 11.0|20.0 | 435| 37.0| 50
BVAD-P112GT | 12 | PG11 3/8" | 11.0|24.0| 48.0| 40.0| 50

BVAD-P132GT | 12 | PG135 | 3/8' | 11.0|24.0| 48.0| 415| 50

BVAD-P137GT | 17 | PG185 | 1/2' | 11.0|300| 5565 51.5| 50

BVAD-P167GT | 17 | PG16 1/2" | 11.0|80.0| 55.5| 51.5| 50

BVAD-P213GT | 23 | PG21 3/4' | 11.0|37.0| 63.0| 58.0| 30

BVAD-P299GT | 29 | PG29 1" 12.0| 44.0| 69.0| 66.0| 20

BVAD-P366GT | 36 | PG36 1v' | 18.0|53.0| 86.0| 86.0| 20

BVAD-P488GT | 48 | PG48 | 11£'~2' | 13.0|65.0 | 94.0/100.0| 10

BVAD-NO22GT | 12 | 1/ 3/8" | 13.0|24.0| 50.0| 41.5| 50

BVAD-NO27GT | 17 | 172" 1/2" | 13.0| 30.0 | 57.5| 51.5| 50

BVAD-NO43GT | 23 | 3/4' 3/4' | 14.0|37.0| 67.0| 60.0| 30

BVAD-NOB9GT | 29 1 1 16.0 | 44.0 | 785| 67.0| 20

BVAD-NO76GT | 36 | 1y 1% | 18.0|53.0| 91.5| 85.5| 20

BVAD-NOSSGT | 48 | 1y | 1%'~2' | 18.0| 65.0 | 99.0| 96.0| 10

BVAD-NO98GT | 48 2" 1v2'~2" | 18.0| 65.0 | 99.0{101.0| 10

21

TRYESE18 ~ 198




EEMET
AhEEfZ 120

€ N

PMA

=
BVBD gme | NW| TR | EW | g A(mm)e R ow | B0

M 5 (255) BVBD-M207GT | 17 |M20x1.5| 1/2" [11.0|11.0| 47.5| 73.0 30.5| 15| 50
BVBD-M257GT | 17 |M25x1.5| 1/2' |145|120] 485| 76.0| 30.5| 18| 50

” 3 - BVBD-M253GT | 23 |M25x1.5| 3/4" [155|120|57.5| 83.0| 38.0| 21| 30
BVBD-M323GT | 23 |M32x1.5| 3/4" [195| 150 61.0| 87.5| 38.0| 24| 30

BVBD-M329GT | 29 |M32x1.5| 1" [23.0|150|70.5| 93.0| 45.0| 28| 20

BVBD-M409GT | 29 |M40x1.5| 1" [285|19.0| 745| 985| 450 34| 20

BVBD-M406GT | 36 |M40x1.5| 1v4" [29.0|19.0| 85.0|121.0 53.0| 36 | 20

BVBD-M506GT | 36 |M50x1.5| 1v4" |[36.5|19.0| 85.0(125.0 53.0| 41| 20

BVBD-M508GT | 48 |M50X1.5| 114'—2" [ 38.5| 19.0 | 98.5|130.0| 60.0 | 46 | 10

BVBD-M638GT | 48 |M63x1.5| 114'~2" [ 48.0| 19.0 | 98.5|138.0| 60.0| 55 | 10

BVBD-P167GT | 17 | PG16 1/2" | 145|11.0| 475| 73.0/ 30.5| 18| 50

BVBD-P213GT | 23 | PG21 3/4" | 195]12.0| 57.5| 85.0| 38.0| 24| 30

BVBD-P299GT | 29 | PG29 1" | 285(12.0|67.5| 96.0| 45.0| 34| 20

BVBD-P366GT | 36 | PG36 | 1% |36.0|13.0|79.0(123.0| 53.0| 41| 20

BVBD-P488GT | 48 | PG48 |114'~2'|48.0|13.0| 92.5[135.0| 60.0| 55| 10

ames MW 29 o L o e

BVOD-P167GT | 17 | 1/2" [29.5 6646.0| 22 | - |36.0|35.5/20.5/2XM5| 50

BVOD-P213GT | 23 | 3/4" |[37.0| 70|655| 31 | - |53.0/43.0|24.5/2XM6| 30

BVOD-P299GT | 29 1" |44.0] 78|67.0| 21 | 36 |54.0{49.527.5/4XM6| 20

BVOD-P366GT | 36 | 14" [53.5/102(85.0| 29 | 30 |73.5/65.5/38.5/4XM6| 10

BVOD-P488GT | 48 | 114'~2" [66.0/119 |86.0| 43 | 30 |73.5|77.5|44.5/4XM6| 10

o

BVOV EIIH;?)%% | 2 D L C G(mm)E F H T M E:?L
__E ‘ BVOV-P167 17 | 1/2" |29.5| 66/46.0(22.0] - |36.0|35.5/20.5/2XM5| 50

e = BVOV-P213 23 | 3/4" |37.0| 70|65.5(31.0] - |53.0/43.0/24.5(2XM6| 30

0 o BVOV-P299 29| 1" |44.0| 78|67.0/21.0] 36 |54.0/49.5/27.5/4XM6| 20
__% —‘ EK pa = | BVOV-P366 36| 14" |535|102|85.0/29.0] 30 |73.5]65.5/38.5/4XM6| 20
|=ﬁ—'m o | s il BVOV-P488 48 | 114"~2" 66.0| 119|86.0| 43.5| 30 |73.5|77.544.5[4xM6| 10

22

TIRYESE18 ~ 198



PMA

TRIREFEE (€ N

- IPG8 e (mm) S
R 2 STReTIE NwW | Z& [Y T8 D g ¢Dmax L sw | Hfi
NVNV-M120-10 10 5/16" M12X1.5 55 10 21 40.0| 19 50
NVNV-M120-5 10 5/16" M12X1.5 5.5 5 21 35.0| 19 50
NVNV-M160-10 10 5/16" M16X1.5 9.5 10 24 | 40.0| 19 50
NVNV-M160-5 10 | 516" |M16x15| 95| 5 | 24 | 350| 19 | 50
NVNV-M162-10 12 3/8" M16X1.5 9.5 10 26 | 43.0| 24 50
NVNV-M162-5 12 3/8" M16X1.5 9.5 B 26 | 38.0| 24 50
NVNV-M202-10 12 3/8" M20X1.5 | 13.5 10 28 43.0| 24 50
NVNV-M202-6 12 3/8" M20X1.5 | 13.5 6 28 39.0| 24 50
NVNV-M207-10 17 1/2" M20X1.5|13.5 10 88 51.0| 30 50
NVNV-M207-6 17 1/2" M20X1.5|13.5 6 33 | 47.0| 30 50
NVNV-M257-11 17 1/2" M25xX1.5 | 18.0 11 35 52.0| 30 50
NVNV-M257-7 17 1/2" M25x%x1.5 | 18.0 7 35 | 48.0| 30 50
NVNV-M253-11 23 3/4" M25X1.5|18.5 11 39 | 54.0| 36 30
NVNV-M253-7 23 3/4" M25%X1.5|18.5 7 39 | 50.0| 36 30
NVNV-M323-13 23 3/4" M32X1.5|24.0 13 43 | 56.0| 36 30
NVNV-M323-8 23 3/4" M32X1.5|24.0 8 43 | 51.0| 36 30
NVNV-M329-13 29 1" M32X%X1.5 | 25.0 13 50 | 57.3| 46 20
NVNV-M329-8 29 1" M32X1.5 | 25.0 8 50 | 52.3| 46 20
NVNV-M409-13 29 1" M40X1.5 | 31.5 13 53 | 57.3| 46 20
NVNV-M409-8 29 1" M40X1.5 | 31.5 8 53 | 52.3| 46 20
NVNV-M406-13 36 14" M40X1.5 | 32.5 13 59 | 71.4| 55 20
NVNV-M406-8 36 14" M40X1.5 | 32.5 8 59 | 66.4| 55 20
NVNV-M506-14 36 14" M50X1.5 | 39.5 14 65 72.4| 55 20
NVNV-M506-9 36 14" M50Xx1.5 | 39.5 9 65 | 67.4| 55 20
NVNV-M508-14 48 11%"~2" M50X1.5|41.5 14 71 72.4| 65 10
NVNV-M508-9 48 112"~2" M50X1.5|41.5 9 71 67.4| 65 10
NVNV-M638-14 48 11%"~2" M63Xx1.5 | 515 14 75 | 72.4| 65 10
NVNV-M638-10 48 115"~2" M63X1.5 | 515 10 75 | 68.4| 65 10
et NW| =0T | F5 (mm) =
SIFESRAS D g A B ¢C ¢D R W |Efu
NVBV-M207-10 17 1/2" M20X 15| 11.0| 10| 51.0| 73.0|{ 29.5| 29 |30.5| 15 | 50
NVBV-M207-6 17 1/2" M20X15[11.0| 6| 47.0| 73.0/29.5| 29 |305| 15| 50
NVBV-M257-11 17 1/2" M25X 15| 145| 11| 52.0| 76.0|/29.5| 35 |30.5| 18 | 50
NVBV-M257-7 17 1/2" M25X 15| 145| 7| 48.0| 76.0/29.5| 35 |30.5| 18 | 50
NVBV-M253-11 23 3/4" M25X 15| 1565 11 | 62.5| 85.0|{ 37.0| 35 |38.0| 21 | 30
NVBV-M253-7 23 3/4" M25Xx15[155| 7| 585| 85.0/37.0| 35 |38.0| 21 | 30
NVBV-M323-13 23 3/4" M32X 15| 19.5| 13| 64.5| 89.0| 37.0| 43 |38.0| 24 | 30
NVBV-M323-8 23 3/4" M32X15[195| 8| 59.5| 89.0/37.0| 43 |38.0| 24 | 30
NVBV-M329-13 29 1" M32X15|23.0| 13| 74.0| 945|440 43 |45.0| 28 | 20
NVBV-M329-8 29 1" M32X15|23.0| 8| 69.0| 945|440 43 |45.0| 28 | 20
NVBV-M409-13 29 1" M40X 15| 285| 13| 75.5(100.5| 44.0| 55 |45.0| 34 | 20
NVBV-M409-8 29 1" M40X 15| 285 8| 70.5(100.5| 44.0| 55 |45.0| 34 | 20
NVBV-M406-13 36 Iz M40X15]|29.0| 13| 86.5|123.0| 53.5| 55 | 53.0| 36 | 20
NVBV-M406-8 36 14" M40Xx15[29.0| 8| 815|123.0/53.5| 55 |53.0| 36 | 20
NVBV-M506-14 36 14" M50X 15| 36.5| 14| 87.5(130.0| 53.5| 69 |53.0| 41 | 20
NVBV-M506-9 36 Nz M50X15]|36.5| 9| 825(130.0| 53.5| 69 |53.0| 41 | 20
NVBV-M508-14 48 | 112"~2" [M50X1.5(38.5| 14 [100.5|135.0/ 66.0| 69 [60.0| 46 | 10
NVBV-M508-9 48 | 11£"~2" [M50X1.5(385| 9| 955|135.0/66.0| 69 [60.0| 46 | 10
NVBV-M638-14 48 | 11£"~2" | M63X1.5|48.0| 14 [100.5|/138.0/ 66.0| 75 [60.0| 55 | 10
NVBV-M638-10 48 | 1£"~2" [MB63X1.5(48.0| 10| 96.5|138.0/66.0| 75 [60.0| 55| 10

23 SEPG ~ NPTHRER » TR IESE 188



PMA

TEREFEE (€ N

=
IR %Il,ﬂ;?ﬁ;?ﬁ,% D L oma A B O |mE
450 EEE M 5 NVAV-M120-10 10 516" [M12x15| 57| 10 | 20.0| 485| 37.0| 27.0| 50
NVAV-M120-5 10 516" |M12X15| 5.7 5 | 20.0| 43.5| 37.0| 27.0| 50
NVAV-M162-10 12 3/8" M16X1.5| 95| 10 | 24.0| 50.5| 41.5| 29.5| 50
NVAV-M162-5 12 3/8" M16X1.5| 9.7 5 1240| 48.0| 40.5| 28.5| 50
NVAV-M207-10 17 1/2" M20X1.5| 135 | 10 | 29.5| 60.5| 52.5| 38.0| 50
NVAV-M207-6 17 1/2" M20X1.5| 13.7 6 | 30.0| 56.5| 51.5| 37.0| 50
NVAV-M253-11 23 3/4" M25X1.5( 185 | 11 | 37.0| 69.0| 61.0| 43.5| 30
NVAV-M253-7 23 3/4" M25X1.5| 18.6 7 | 37.0| 66.0| 60.5| 43.0/ 30

NVAV-M257-11 17 1/2" |M25%X15|17.0| 11 | 35.0 | 61.5| 55.5| 38.0| 50
NVAV-M323-13 23 3/4" |M32Xx15|23.0| 13 |43.0| 71.0| 65.0| 43.5| 30

NVAV-M329-13 29 1" M32Xx1.5|255| 13 | 440| 765 68.5| 47.0| 20
NVAV-M329-8 29 1" M32X1.5| 25.7 8 | 44.0| 72.0| 68.0| 46.5| 20
NVAV-M406-13 36 1va" | M40X1.5|33.0| 13 | 55.0| 94.0| 87.5| 60.0| 20
NVAV-M406-8 36 174" | M40Xx1.5| 33.0 8 | 55.0| 89.0| 87.5| 60.0| 20
NVAV-M409-13 29 1" M40Xx15|305| 13 | 53.0| 78.0| 73.5| 47.0] 20

NVAV-M506-14 36 1va" |M50X1.5|385| 14 | 65.0| 95.0| 925| 60.0| 20
NVAV-M508-14 48 | 112"'~2" |M50X 1.5 423 | 14 | 69.0 |102.0| 101.0| 66.5| 10
NVAV-M508-9 48 | 172"'~2"| M50X1.5| 42.3 9 | 69.0| 97.0/101.0| 66.5| 10
NVAV-M638-14 48 | 172"~2" |M63X 1.5/ 52.0 | 14 | 75.0 |102.0{ 104.0| 66.5| 10
NVAV-M638-10 48 | 1V2"~2" |M63X1.5[ 52.0 | 10 | 75.0 | 98.0{104.0| 66.5| 10

P68 mm HE

I B SIEESRS D G D g q(me;x. A B %E
QOOEEE M 5 NVWV-M120-10 10 5/16" M12X1.5| 5.0 10 | 20.0| 37.5| 39.5| 50
NVWV-M120-5 10 5/16" | M12X1.5| 5.0 5] 20.0| 32.5| 39.5| 50
NVWV-M160-10 10 5/16" M16X1.5| 9.0| 10 | 20.0| 37.5| 41.5| 50
NVWV-M160-5 10 5/16" | M16X1.5| 9.0 51| 20.0| 32.5| 41.5] 50
NVWV-M162-10 12 3/8" M16X1.5| 9.0 10 | 23.5| 42.0| 46.5] 50
NVWV-M162-5 12 3/8" M16X1.5| 9.0 5| 23.5| 37.0| 46.5|] 50
NVWV-M202-10 12 3/8" M20X1.5113.0| 10 | 23.5| 42.0| 49.0| 50
NVWV-M202-6 12 3/8" M20%X1.5|183.0 6 | 23.5| 38.0| 49.0|] 50
: B NVWV-M207-10 17 1/2" M20X1.5 | 13.0| 10 | 29.5| 47.0| 58.5| 50
: —— = NVWV-M207-6 17 1/2" M20X1.5 | 13.0 6 | 29.5| 43.0| 58.5] 50
/1| FE ] e j E NVWV-M253-11 23 3/4" M25X1.5118.0| 11 | 37.0| 59.0| ©67.0| 30
7 _‘|‘\, =] ;1 NVWV-M253-7 23 3/4" M25X1.5118.0 7 | 37.0| 65.0| 67.0] 30
_:L—i—]‘l NVWV-M329-13 | 29 |  1* | m32x1.5|245| 13| 44.0] 68.0] 745 20
:- Ill:l -| NVWV-M329-8 29 1" M32X1.5 | 24.5 8 | 44.0| 63.0| 74.5] 20
P NVWV-M406-13 36 Rz M40Xx1.5 | 30.0| 13 | 53.5| 80.5| 98.0] 20
NVWV-M406-8 36 14" M40Xx1.5 | 30.0 8 | 53.5| 75.5| 98.0|] 20
NVWV-M508-14 48 | 112"~2" | MB0X1.5 | 39.5| 14 | 66.0| 95.5(111.0| 10
NVWV-M508-9 48 | 11£"'~2" | M50X1.5 | 39.5 9| 66.0( 90.5|111.0| 10
NVWV-M638-14 48 | 112"'~2" | MB3X1.5 | 50.0| 14 | 66.0| 94.5|114.0| 10
NVWV-M638-10 48 | 112"~2" | MB3X1.5 [ 50.0| 10 | 66.0| 90.5|114.0| 10

24 SBPCGHRER » TLRTFSR18E



PMA

WNF R

3 : 5 (mm) 2k

RY B8 SREIRES Nw | 2= ¥ I8 g $AD ¢ID L | =

M BVID-M12mGT | 07 1/4" M12x1.5| 8.0 | 200 | - | 320/ 100
55 (IP66) BVID-M160GT | 10 516' | M16x15| 80 |215| - |835| 50
BVID-M162GT | 12 3/8" M16x1.5| 8.0 | 235| - | 3865| 50

‘ BVID-M207GT | 17 1/2" M20x15| 8.0 | 300 | - | 445| 50
¢ BVID-M253GT | 23 3/4" M25x1.5| 8.0 | 387.0| - |485| 30
"I BVID-M329GT | 29 1" M32x1.5| 10.0 | 440 | - | 515] 20
; BVID-M406GT | 36 14 M40x1.5| 10.0 | 535 | - | 655| 20
BVID-M508GT | 48 | 1%'~2' | M50x1.5| 10.0 [ 66.0 | - | 655 | 10

- ) BVID-M638GT | 48 | 1%'~2' | M63x1.5| 100 [ 72.0| - [ 655] 10
BFIL-PO7m 07 1/4" PGO7 80 | 175 | - [29.0] 100

PG #F (pe7) BFIL-P070 10 | 516 PGO7 | 80| 200| - | 845 50
BFIL-PO90 10 5/16" PGO09 80|205| - |325| 50

BFIL-P112 12 3/8" PG11 80 |280| - |35| 50

BFIL-P117 17 1/2" PG11 80280 | - [350]| 50

BFIL-P132 12 3/8" PG135 | 80 |280| - |325| 50

BFIL-P137 17 1/2" PG135 | 80 |295| - |335| 50

BFIL-P160 10 5/16" PG16 70260 | - |[370]| 50

BFIL-P167 17 1/2" PG16 80|345| - |335| 50

BFIL-P217 17 1/2" PG21 | 105 |350| - |355| 50

BFIL-P213 23 3/4" PG21 80 |355| - [39.0| 30

BFIL-P293 23 3/4" PG29 90[440| - |420] 30

BFIL-P299 29 1" PG29 90[450| - |430] 20

BFIL-P363 23 3/4" PG36 | 120 | 540 | - |51.0| 30

BFIL-P369 29 1" PG36 | 16.0 | 570| - |520| 20

BFIL-P366 36 14 PG36 | 130|540 | - |640| 20

BFIL-P488 48 | 1p'~2" PG48 | 130 | 670 | - |650]| 10

TFIL-FO8m 07 1/4" M8x10 | 65| 180 | 7.0] 29.5| 100

TFIL-F12m 07 1/4" M12x1.0| 6.0 | 17.0 | 11.0 | 56.0 | 100

TFIL-F18m 07 1/4" M18x1.0| 6.0 | 235 | 17.0 | 56.5 | 100

TFIL-F30m 07 1/4" M30x1.5| 6.0 | 36.0 | 28.5 | 56.5 | 100

TFIL-F120 10 516" | M12x1.0| 6.0 | 20.0 | 11.0 | 57.0 | 50

TFIL-F180 10 516' | M18x1.0| 6.0 | 235 | 17.0 | 57.0| 50

TFIL-F300 10 516" | M30x1.5| 6.0 | 36.0 | 28.5 | 57.0 | 50

P68 = (mm) 2E3

gmms |V RO IR imacd sw L | mE

NVIR-M120 10 | 5/16" |[M12x1.5| 7.5[20.5|10.0| 19 |[35.0| 50

NVIR-M160 10 | 5/16" |M16x1.5| 9.0{23.0|11.0| 21 |40.5| 50

NVIR-M162 12 3/8" | M16x1.5| 9.0[24.0|13.5] 22 |42.0| 50

NVIR-M207 17 1/2' | M20x1.5/10.0/30.0|18.0| 27 |50.0| 50

NVIR-M253 23 3/4" | M25x1.5|10.0{37.0| 23.0| 34 |56.0| 30

NVIR-M329 29 1" M32x1.5| 11.0| 45.0| 30.0| 41 |55.5| 20

NVIR-M406 36 14" | M40x1.5]| 13.0{55.0| 88.0] 50 |71.0| 20

NVIR-M508 48 | 1'~2" |M50%1.5|15.0|66.0| 48.0| 60 |75.0| 10

e NVIR-M638 48 | 1'~2' | M63x1.5|17.5|75.0|/50.5| 70 |76.0| 10
NVIZR-PO7m 07 1/4" PGO7 | 6.0/20.5| 85| 19 |33.0| 100

PG3 NVIZR-PO90 10 | 5/16" PGO9 | 9.0/23.0[11.5| 21 |87.5| 50

s L NVIZR-P110 10 | 5/16" PG11 9.0/27.0/11.5| 25 |39.5| 50

3 NVIZR-P112 12 3/8" PG11 9.0|265|135| 24 |41.5| 50

] NVIZR-P137 17 1/2" PG13.5| 8.0/31.0/17.0| 28 |46.5| 50

5 ! i P | NVIZR-P167 17 1/2" PG16 | 95|30.0|18.0| 27 |495| 50
=l c& 3 ' z NVIZR-P213 23 3/4" PG21 |10.0/39.0|25.0| 36 |56.5| 30
= = L ' | NVIZR-P299 29 1" PG29 |12.5|46.0/31.0] 42 |56.5| 20
T NVIZR-P366 36 14 PG36 |13.0/60.0/39.0] 55 |73.0| 20
NVIZR-P488 48 | 1'~2' | PG48 |14.0/76.0/50.5| 70 [75.0| 10

25




WNF R

PMA

=528 . g [nw SR m oy | (Z/TE)) s
BVIDA-U15mGT 5/8"-24 o7 11 1/4" 8 | 21.5| 31.5| 100
AM P/C PC BVIDA-U150GT 5/8"-24 10 11 5/16" 8 [ 21.5| 33.5 50
BVIDA-U152GT 5/8"-24 12 11 3/8" 8 | 21.5| 36.5 50
BVIDA-U180GT 3/4"-20 10 13 5/16" 8 | 27.0| 33.5 50
BVIDA-U182GT 3/4"-20 12 13 3/8" 8 | 27.0| 36.5 50
BVIDA-U187GT 3/4"-20 17 13 1/2" 8 | 27.0| 44.5 50
BVIDA-U232GT 1%46"-20 12 17 3/8" 8 | 32.0| 38.5 50
BVIDA-U233GT 1%46"-20 23 17 3/4" 8 | 35.5| 48.5 30
BVIDA-U237GT 1%46"-20 17 17 1/2" 8 | 32.0| 46.5 50
BVIDA-U323GT 1%46"-18 23 - 3/4" 11 | 44.0| 52.0 30
BVIDA-U347GT 134"-18 17 23 1/2" 8 | 44.0| 46.5 50
BVIDA-U343GT 134"-18 23 23 3/4" 8 | 44.0| 48.5 30
: BVIDA-U402GT 154"-18 12 spec. 3/8" 7 | 48.0| 55.5 50
A = BVIDA-U407GT 154"-18 17 Spec. 1/2" 7 | 48.0| 61.5 50
BVIDA-U403GT 154"-18 23 spec. 3/4" 7 | 48.0| 60.5 30
T I.I_r BVIDB-U162GT 11/46"-24 12 12-8 3/8" 4.0 | 24.0| 43.5 50
U G-G/ . BVIDB-U202GT 1346"-20 12 14-12 3/8" 45 | 26.5| 44.0 50
Cannon Trldent BVIDB-U232GT 1546"-20 12 | 16-19 3/8" 45 | 31.0| 49.0 50
BVIDB-U237GT 1%46"-20 17 | 16-19 1/2" 45 | 31.0| 52.0 50
BVIDB-U267GT 1%6"-18 17 18-23 1/2" 45 | 35.0| 52.0 50
BVIDB-U297GT 1346"-18 17 20-28 1/2" 6.5 | 38.0| 55.5 50
BVIDB-U293GT 1346"-18 23 | 20-28 3/4" 6.5 | 38.0| 52.0 30
BVIDB-U323GT 1%46"-18 23 | 22-35 3/4" 6.5 | 40.0| 52.0 30
BVIDB-U357GT 17/46"-18 17 24-48 1/2" 6.5 | 44.0| 58.5 50
BVIDB-U353GT 17/46"-18 23 | 24-48 3/4" 6.5 | 44.0| 54.0 30
BVIDB-U359GT 17/46"-18 29 | 24-48 1" 6.5 | 44.0| 50.5 20
BVIDG-U212GT | 7/8"-20 UNEF | 12 16 3/8" 9 29.0| 38.5 50
UNEF MIL BVIDG-U217GT | 7/8"-20 UNEF | 17 16 1/2" 9 30.5| 46.5 50
C501 5 BVIDG-U242GT 1"-20 UNEF 12 18 3/8" 9 32.0| 40.5 50
BVIDG-U247GT 1"-20 UNEF 17 18 1/2" 9 32.0| 47.5 50
. - i BVIDG-U297GT |13%46"'-18 UNEF| 17 |20-.22 1/2" 9 35.0| 47.5 50
|
5] : BVIDG-U293GT | 1%46"-18 UNEF| 23 | 20-22 3/4" 9 38.0| 55.0 30
| ! ]/@“‘1 5 .—-I T BVIDG-U357GT |1746"'-18 UNEF| 17 | 2428 1/2" 9 440 46.5 50
EI E G = —‘—"““%"“ = I: BVIDG-U353GT |1746"-18 UNEF| 23 | 24.28| 3/4" 9 44.0( 52.0 30
. i F — BVIDG-U359GT |1746"-18 UNEF| 29 |24.28 1" 9 44.0( 52.0 20
l i BVIDG-U433GT 1%/4"-18 UNS 23 32 3/4" 10 53.0| 52.0 30
BVIDG-U439GT 1%4"-18 UNS 29 32 1" 10 53.0| 51.5 20
BVIDG-U436GT 1%4"-18 UNS 36 32 14" 10 53.0| 62.5 20
BVIDG-U509GT 2"'-18 UNS 29 36 1" 10 58.0| 55.0 20
BVIDG-U506GT 2"'-18 UNS 36 36 114" 10 58.0| 62.5 20
BVIDG-U569GT 2V4"-16 UN 29 40 1" 10 64.0| 51.0 20
BVIDG-U566GT 2V4"-16 UN 36 40 114" 10 64.0| 62.0 20

26




PMA

JUMBO 38

EIE%?%% NWIRN A 8w & (mmF) G L M %%
BGG-56 56 = 82| 97| 42| 60.0| 66.0 - - | 4XMe6| 10
BGG-70 70| 22" 97| 114| 48| 60.0| 80.0| 100| - |B6XM6| 10
BGG-95 95| 3V2"|126| 146| 53| 74.0/108.0| 131| - |B6XM6| 10
BGG-125 | 125 Sl - | 194 | 79| 88.5|153.5| 177| - |6XM6| 5
BGO-56 56 - 82| 97| 101| 60.0| 66.0] - |122]4XM6| 10
BGO-70 70 | 2v2"| 97| 114| 115]| 60.0| 80.0| 50.0|142| 5XM6| 10
BGO-95 95 | 312" 126| 146| 149| 74.0|108.0| 65.5[{175| 5XM6| 10
ETE%?E%% NW | 2= 19 A B H E (mm|): G L M %Zﬁ
BGGV-56 | 56 - 82| 97| 42 | 60 | 66 - - [4XM6 | 10
BGGV-70 | 70 215" 97| 114| 48 | 60 | 80 | 100| - |6XM6| 10
BGGV-95 | 95 32" | 126 | 146| 53 | 74 | 108 | 131 - |6XM6 | 10
BGOV-56 | 56 - 82| 97|101| 60 | 66 - 122 4XM6 | 10
BGOV-70 | 70 215" 97| 1141115 60 | 80 |50.0| 142 |5XM6 | 10
BGOV-95 | 95 31" | 126 | 146 | 149 | 74 | 108 |65.5| 175 [5XM6 | 10

27




BEIER

PMA

£

90*9

as . (mm) 2E3
=TH E v =
FH-0 gmges | nw|omw |, o L o, | B8
BFH-07-0 | 07 | 1/4 |17.0] 20.0] 21.5] 13.5] 40.5[1 xm4] 100
£ BFH-10-0 | 10 | 516" | 20.5] 20.0| 24.5] 15.5] 47.5]1xm5] 100
NS BFH-12-0 | 12 | 3/8° |24.0] 20.0| 27.0] 16.5] 54.5] 1 xm5] 100
£ BFH-17-0 | 17 | 1/22 | 30.0] 20.0] 34.0] 20.0] 68.0] 1 xMm6] 100
1
‘ BFH23-0 | 23 | 3/4' |385| 20.0| 42.0| 24.0| 85.0[1xMms| 100
BFH290 | 29 | 1" |455| 20.0| 48.0| 27.0| 99.0[ 1 xMm6| 100
BFH-36-0 | 36 | 1/ | 555 20.0| 56.0| 31.0|119.0[1xM6| 50
BFH-48-0 | 48 |1'~2'| 67.5| 20.0| 68.0] 37.0]143.0[ 1 xm6| 20
A
\ SRR EEE = (mm) 85
GPS .. EEE | NW | mE |, . L |B2E
BGPS-12/01| 12 3/8" 70.0 | 30.0 | 45.0 | 51.0 | 30
BGPS-17 17 1/ 70.0 | 30.0 | 450 | 51.0 | 30
BGPS-23 23 3/4" 70.0 | 30.0 | 45.0 | 51.0| 30
BGPS-29 29 1 850 | 300 | 60.0 | 65.0 | 20
BGPS-36 36 14 85.0 | 30.0 | 60.0 | 650 | 10
BGPS-48 48 | 1~2 | 1150 | 300 | 90.0 | 925 | 10
BGPS-56 56 _ 1150 | 30.0 | 90.0 | 925 | 10
A
SR % 1 (mm) o=
GH mgE | Nw | = |, mo B
BGH-23 | 23 | 3/4 | 58.0|16.0| 31.5| 46.0 | 2xM5 | 50
ol e ==
e BGH-29 | 29 1 70.0| 19.0 | 37.5| 55.0 | 2xM6 | 50
fil i i | BGH36 | 36 | 1w | 80.0| 24.0| 46.0| 65.0 | 2xM6 | 50
“ % i
= l— =l [ Boras | 48 | 1722 | 940| 240 | 585| 780 | 2xM6 | 50
- ; BGH-56 | 56 ~ |118.0| 26.0 | 72.0| 98.0 | 2xM8 | 10
BGH-70 | 70 | 2w |130.0| 30.0 | 85.0(110.0| 2xMms | 10
BGH-95 | 95 | 3 |156.0| 30.0 |112.5(136.0| 2xM8 | 10

28




— —
~
= @88
A = IP66 NW e
=] - (mm) E
Y Re#E88 STHE SRS A B C| L H 1| o F K E M |8
oo BVYD-100707GT | 10 | 07 | 07 | 63.0] 32.0{21.0[15.0[11.0[21.0[16.0[24.0[2xM4] 20
9 . BVYD-121010GT | 12 | 10| 10| 69.0| 39.0{24.0[19.0][12.0[24.0[ 18.0[27.0[2xMm4| 20
1|7@ &gy *+U | BVYD-171212GT | 17 | 12| 12| 800 46.0[30.0[22.0|16.0{32.0]22.0|34.0 |2XxM5| 20
= [ E_} i | [ BvvD-231717GT| 23| 17| 17| 98.0] 60.0[ 38.0[30.0| 19.0[42.0|29.0/38.0[2xM6| 20
[ = ‘h__“ ™ i | BYYD-292323GT | 29 | 23| 23 [109.0| 74.0[45.0|37.0]23.0[48.0]33.0|37.0[2xMm6| 10
o T BVYD-362929GT | 36 | 29| 29 [130.0| 87.0[ 54.0[43.0[27.0|58.0[36.0[50.0[2xM™m6] 5
Ebe BVYD-483636GT | 48 | 36| 36 |144.0[104.0{ 68.0|50.0 | 34.0|70.0[48.0[50.0[2xM6| 5
_1P66 NW (mm) B
] BRI A B C E F H K L N ) M BE(T[
BVTD-101010GT | 10 | 10| 10| 19.0| 21.0 | 39.5| 16.0| 59.0| 21.0 | 10.5 | 2xM4| 50
BVTD-121212GT | 12 | 12| 12| 225|265 | 47.5| 18.5| 71.5| 24.0 | 12.0| 2xM4| 50
BVTD-171717GT | 17 | 17| 17| 29.5| 34.0 | 61.5| 22.0| 93.5/ 30.0 | 15.0 | 2xM5| 50
BVTD-232323GT | 23 | 23| 23| 30.5| 41.5| 70.0| 28.0[106.5| 37.5 | 19.0 | 2xM5| 20
BFTL-292323 29| 23| 23| 32.0[ 48.0| 73.0] 22.0[108.0] 44.0| 22.0| 2xm5]| 10
BVTD-292929GT | 29 | 29| 29 | 31.5| 48.0| 77.5| 32.5[111.0] 445 225 | 2xM5| 20
BVTD-363636GT | 36 | 36| 36 | 44.0| 57.0 | 99.0| 40.0[150.5| 54.5 | 27.5 | 2xM6| 5
BVTD-484848GT | 48 | 48| 48 | 43.0| 71.0 [111.5| 47.5[163.0] 66,5 | 335 | 2xmB| 5
(YRR T 125855 IP68 #R1%)
v v ol __IP40 NW (mm) (25
SIFAIN Y o1& STRE RIS F G H A B c D E | =1
|‘.— . - CE BLYO-100707 10 07 07 546 | 371 | 100 | 10.0 | 10.0 | 10
] BLYO-121010 12 10 10 54.9 | 39.8 | 10.0 | 10.0 | 100 | 10
BLYO-171212 17 12 12 63.6 | 475 | 12.0 | 10.0 | 100 | 10
BLYO-231717 23 17 17 76,5 | 60.0 | 13.0 | 11.0 | 11.0 | 10
BLYO-292917 29 29 17 | 1006 | 76.0 | 13.0 | 13.0 | 130 | 10
I:IIJ Eﬁﬁ T HﬁEuE ST IESRIS © D E A B B8fi]
r;_ ( € | BLTO-070707 07 o7 07 452 31.1 10
BLTO-101010 10 10 10 452 31.1 10
lﬂ;[’ﬂ ﬁ\ I]]m BLTO-121212 12 12 12 49.1 34.8 10
o e ek e “ BLTO-171717 17 17 17 56.5 41.0 10
- !J |-" = BLTO-232323 23 23 23 64.5 48.6 10
b= BLTO-292929 29 29 29 72.0 55.3 10
o g P68 - (mm) #D |BE
90 B‘EEEHE sememe (W R W F1 g A B rox|BfI
. NSBV-M207-10 | 17 1/2" | M20X15| 10 | 625| 745|295 1
NSBV-M253-11 | 23 3/4" | M25x1.5| 11 | 73.0| 87.5| 37.0| 1
NSBV-M329-13 | 29 1" | M32x15| 13 | 865 | 98.0| 44.0|
NSBV-M409-13 | 29 1" | M40x15| 13| 865 | 98.0| 44.0| 1
NSBV-M406-13 | 36 1" | M40X15| 13| 985| 127.5| 53.5| 1
NSBV-M508-14 | 48 | 114'~2'| M50X1.5| 14 | 1135 | 139.0| 66.0| 1
NSBV-M638-14 | 48 | 115'—2'| M63X1.5| 14 | 110.0 | 139.0| 66.0| 1
Y, = P68 (mm) @i
Z =] _ ol @D | Bas
EfieiEEoa gmegs |V RPN IR | g L W oD ma/EE
NSNV-M120-10 | 10 | 5/16" | M12X1.5| 10|50.5/25.0| 7.0/20.0] 1
{ & 5 NSNV-M162-10 | 12 3/8" | M16%X1.5| 10 |53.5/25.0/10.0{ 23.5[ 1
NSNV-M207-10 | 17 1/2" | M20X 15| 10| 62.5/26.0]15.0/29.5 1
A1 NSNV-M253-11 | 23 3/4" | M25x1.5| 11|67.5/27.5/20.5/37.0] 1
A NSNV-M329-13 | 29 1" | M32x15| 13|72.0/31.0/27.5|44.0] 1
ﬁ’ NSNV-M409-13 | 29 1" | M4ox1.5]| 13|72.0/31.0/29.5] 44.0[ 1
: NSNV-M406-13 | 36 114" | M40X 15| 13|85.5(325(35.0|535 1
NSNV-M508-14 | 48 | 116'—2'| M50%X1.5| 14 | 87.5|34.0| 44.0/ 66.0] 1
NSNV-M638-14 | 48 | 116'—2'| M63X%1.5| 14 | 84.030.5|50.0 66.0| 1

29

(55BPG ~ NPTHRIER)

H



YRS sl

DA = . mm (253
IRREDE TS NigF MR R (L
M12M16M Mi12x15 | M16%x15 | 160 | 50 | 7.0 18 8 | 100

M16M20M M16X1.5 | M20%X15 | 165 | 50 | 75| 22 12 | 100

¥ [ M20M25M M20X15 | M25%x1.5 | 185 | 60 | 80 | 27 15 50

* [ M25M32M M25X15 | M32x1.5 | 205 | 7.0 | 9.0 | 34 21 25

M32M40M M32x15 | M40x1.5 | 235 | 80 | 100 | 42 26 25

M40M50M M40X1.5 | M50%X1.5 | 30.0 | 80 | 13.0 | 52 34 10

M50MB3M M50X15 | M63x1.5 | 325 | 9.0 | 16.0 | 65 44 10

0709M PGO7 PGO9 150 | 50| 7.0] - 17 | 100

0911M PG09 PG11 165 | 60| 7.0 - 20 | 100

0913M PG09 PG135 | 175 | 60| 75| - 22 | 100

1113M PG11 PG135 | 175 | 60| 80| - 22 | 100

1116M PG11 PG16 190 | 65| 85| - 24 | 100

1121M PG11 PG21 210 | 65 | 100 | - 30 | 100

1316M PG13.5 PG16 190 | 65 | 75| - 24 | 100

t 1821M PG13.5 PG21 21.0 | 65| 85| - 30 | 100

i 1621Mm PG16 PG21 210 | 65| 85| - 30 | 100

1629M PG16 PG29 225 | 65| 11.0| - 39 50

2129M PG21 PG29 230 | 70| 1156]| - 39 50

2936M PG29 PG36 275 | 80 | 120 | - 50 25

4248M PG42 PG48 33.0 | 10.0 | 17.0 | - 64 10

s mm (25

TSRS A P L (mm o0 | Br

M16M12M M16x1.5 Mi2%1.5 8.5 6.0 20.0 100

M20M12M M20x1.5 M12x1.5 9.0 6.5 24.0 100

M20M16M M20x1.5 M16%1.5 9.0 6.5 24.0 100

1 M25M16M M25x1.5 M16x15 10.0 7.0 30.0 100
]__;5::_”' M25M20M M25%1.5 M20Xx1.5 10.0 7.0 30.0 100
o s [ M32M20Mm M32x1.5 M20x1.5 11.5 8.0 39.0 50
&l g 5 [ M32M25M M32x1.5 M25x 1.6 115 8.0 39.0 50
s gL 212 [ m4om25M M40 X 1.5 M25% 1.5 12.5 9.0 50.0 50
=! = M40M32M M40 X 1.5 M32x1.5 12.5 9.0 50.0 50

' M50M32M M50 X 1.5 M32x1.5 14.0 10.0 57.0 25
M50M40M M50 X 1.5 M40x15 14.0 10.0 57.0 25

2 MB3M40M M63x1.5 M40x 15 14.0 10.0 70.0 10

M63M50M M63x1.5 M50% 1.5 14.0 10.0 70.0 10

0907M PG09 PGO7 8.5 6.0 17.0 100

1107M PG11 PGO7 8.5 6.0 20.0 100

1109M PG11 PGO9 8.5 6.0 20.0 100

1307M PG13.5 PGO7 9.0 6.5 22.0 100

1309M PG13.5 PG09 9.0 6.5 22.0 100

1311M PG13.5 PG11 9.0 6.5 22.0 100

1607M PG16 PGO7 95 6.5 24.0 100

1609M PG16 PGO9 95 6.5 24.0 100

1611M PG16 PG11 9.5 6.5 24.0 100

1613M PG16 PG13.5 9.5 6.5 24.0 100

ol 2111M PG21 PG11 10.0 7.0 30.0 100

— 2113M PG21 PG13.5 10.0 7.0 30.0 100
Sy | c[a 2116M PG21 PG16 10.0 7.0 30.0 100
s 4 2 g 7 2916M PG29 PG16 11.5 8.0 39.0 50
g S 5z 2921M PG29 PG21 11.5 8.0 39.0 50
= e 3621M PG36 PG21 12.5 9.0 50.0 25
L _ 3629M PG36 PG29 12.5 9.0 50.0 25
=L 4220M PG42 PG29 14.0 10.0 57.0 10
= 4236M PG42 PG36 14.0 10.0 57.0 10
4836M PG48 PG36 14.0 10.0 64.0 10

4842M PG48 PG42 14.0 10.0 64.0 10

P66 NW =0 (mm) Bk

5] iSRS A B A B P A 1D L ES{T]

BAVD-12/10GT 12 10 3/8" 5/16" 155 | 20.0 | 46.0 50

BAVD-17/10GT 17 10 1/2" 516" 21.0 | 200 | 53.0 50

BAVD-17/12GT 17 12 1/2" 3/8" 21.0 | 235 | 54.0 50

BAVD-23/10GT 23 10 3/4" 516" 285 | 200 | 54.0 30

BAVD-23/12GT 23 12 3/4" 3/8" 285 | 235 | 53.0 30

BAVD-23/17GT 23 17 3/4" 1/2" 285 | 205 | 62.0 30

BAVD-29/10GT 29 10 IE 516" 345 | 200 | 565 30

BAVD-29/12GT 29 12 IE 3/8" 345 | 235 | 55.0 30

e BAVD-29/17GT 29 17 iE 172" 345 | 205 | 61.0 30

= BAVD-29/23GT 29 BE IE 3/4" 34.0 | 37.0 | 64.0 30

1 BAVD-36/29GT 36 29 11/4" q" 430 | 440 | 81.0 20

BAVD-48/36GT 48 36 | 142 Iz 550 | 535 | 885 10

30




PMA

H {45 5K 258

HWE M F e L Rl i PPN SR
BVNR-REM162 | 12 | 3/8' |M16|16.0] 54 | 23.5]26.0] 50

- BVNR-REM187 | 17 | 1/2° |Mi8|185| 65 |30.0]265] 50
™ e BVNR-REM207 | 17 | 1/2° |M20|20.0] 65 |29.5|28.0] 50
:,—[:—‘—: =T+ ;| BYNR-REM253 | 23 | 34' [M25[26.0] 71 [37.0]300] 30
= [z' “L417. S| [ BvNRREMS20 [ 20 [ 1~ |ma32[320] 71 [440[305] 20
BVNR-REM406 | 36 | 1%' |M40|40.0| 90 |53.5|36.0] 20

BVNR-REM508 | 48 | 1%5'—2' | M50 | 50.0| 90 | 66.0|35.0] 10

ST Nwo| =D . "o | 88

BVSGD-1212GT| 12 3/8" 66.0 | 235 | 50

BVSGD-1717GT| 17 1/2" 87.0 | 295 | 50

BVSGD-2323GT| 23 3/4" 103.0 | 37.0 | 30

BVSGD-2929GT| 29 qn 100.0 | 44.0 | 20

BVSGD-3636GT| 36 114 130.0 | 535 | 10

BVSGD-4848GT| 48 11%'~2" | 133.0 | 66.0 | 10

gmsmis | | omow | O |BE

BCT-10 10 | 516" | 46 | 130 | 28.0]| 10

BCT-12 12 3/8" | 59 | 16.0 | 35.0| 10

BCT-17 17 120 | 7-14| 210 420/ 10

BCT-23 23 3/4" |14-22| 280 | 51.0[ 10

BCT-29 29 1v |16-22| 34.0]| 53.0] 10

BCT-36 36 114 |16-29| 42.0 | 55.0[ 10

=

e | TR | W o o R ) -

BLNO-M160 | M16x1.5| 10 |13.0[20.5]37.5] 20.0] 17.0] 50

BLNO-M162 | M16x15| 12 |13.0]21.5]39.5] 23.0{ 20.0] 50

BLNO-M202 | M20x1.5| 12 |13.0]26.0|39.5] 23.0[ 20.0] 50

BLNO-M207 | M20x1.5| 17 |13.0]27.0|435] 28.5] 25.0] 50

»| BLNO-M257 | M25x15| 17 [14.0]31.0]445] 285|25.0] 50

ﬂL BLNO-M253 | M25x 15| 23 |14.0( 350|525/ 36.5]33.0] 30

' - ¥ TBlNOM325 | Mazx 15| 23 |17.0] 40.0| 56.0| 36.5] 330 30
BLNO-M329 | M32x15| 29 |17.0]42.0]61.0] 43.0] 40.0] 20

BLNO-M409 | Maox1.5| 29 |21.0] 49.0|65.0] 43.0] 40.0| 20

BLNO-M406 | Maox1.5| 36 |22.0(53.0|74.5] 54.0 50.0| 20

BLNO-M508 | M50x1.5| 48 |22.0|65.0|80.5] 66.0] 62.0 10

LR A S SRS | T RIS s
M BLN-M16 | M16%1.5| BLNO-M160 BLNO-M162| 8.0 | 19.0 | 50
== = BLN-M20 | M20%1.5| BLNO-M202 BLNO-M207| 8.0 | 27.0 | 50
§ ﬁ,\‘ BLN-M25 | M25%1.5| BLNO-M257 BLNO-M253| 9.0 | 32.0 | 10
Sy :.;_l L‘ BLN-M32 | M32X 1.5/ BLNO-M323 BLNO-M329| 12.0 | 40.0 | 10
“**-:b,;ﬁ’ = BLN-M40 | M40X 1.5| BLNO-M409 BLNO-M406| 15.0 | 48.0 | 10
SRS S BLN-M50 | M50%1.5| BLNO-M508 15.0 | 64.0 | 10
31 TRYESE 188




HtACH

PMA

|+
gmms | Nw | omw | o @0 giﬁ
RKS-07 07 1/4" 45 | 125 16 | 100
RKS-10 10 5/16" 8.0 | 155 16 | 100
RKS-12 12 3/8" 10.0 | 19.0 | 20 | 100
RKS-17 17 1/2" 13.0 | 240 | 21 | 100
RKS-23 23 3/4" 20.0 | 320 | 22 50
RKS-29 29 qn 25.0 | 380 | 22 30
RKS-36 36 114" 33.0 | 460 | 25 20
RKS-48 48 | 1»'~2" | 45.0 | 58.0 | 25 10
RKS-56 56 = 54.0 | 71.0 | 28 10
HAE
IR nw A AA Bl BA (mHm) L G S C SE
SRER-06 (X)| 06| 6.5/13.0] - | - [13.0/21.0[33.0[13.0| 6.0| 50
SRER-16 (X)| 16 |16.0{24.0] - | - |15.0/25.0[39.0/15.0| 7.0| 50
SRER-21 (X)| 21(22.0{32.0] - | - |20.0/29.0[43.0/15.0| 7.0| 50
SRER-29 (Z)| 29 30.0{40.0| - | - |18.0/29.0[43.0[39.0| 7.0| 50
SRER-50 (2)| 50 |50.0{61.0] - | - |18.0/29.0/43.0/50.0| 7.0| 20
SREV-40 (Y)| 40 |47.0|58.034.0|44.0|20.0| 24.0| 44.0| 38.0{10.0| 20
+
TSRS F13 PR L S:ﬁ
SVN4-M12 Mi2x1.5 | 20.0 | 12.0 4.00 50
SVN4-M16 Mi6x1.5 | 22.0 | 16.0 3.00 50
SVN4-M20 M20x1.5 | 27.0 | 20.0 3.50 50
SVN4-M25 M25x1.5 | 35.0 | 25.0 5.00 30
SVN4-M25/01 | M25%x1.5 | 31.0 | 25.0 3.00 30
SVN4-M32 M32x1.5 | 43.0 | 32.0 5.50 20
SVN4-M40 M40x1.5 | 55.0 | 40.0 7.50 20
SVN4-M40/01 | M40%1.5 | 51.0 | 40.0 5.50 20
SVN4-M50 M50x1.5 | 69.0 | 50.0 9.50 10
SVN4-M50/01 | M50%1.5 | 59.0 | 50.0 4.50 10
SVN4-M63 M63x1.5 | 75.0 | 63.0 6.00 10
SVN4-07 PGO7 16.5 | 12.5 2.00 50
SVN4-09 PGO9 20.0 | 15.2 2.40 50
- SVN4-11 PG11 240 | 186 2.70 50
: SVN4-13 PG13.5 31.0 | 204 5.30 50
g = SVN4-16 PG16 31.0 | 225 4.25 50
SVN4-21 PG21 37.0 | 283 4.35 30
i_______ fizs SVN4-29 PG29 48.0 | 37.0 5.50 20
d| e == SVN4-36 PG36 57.0 | 47.0 5.00 20
SVN4-42 PG42 65.0 | 54.0 5.50 10
SVN4-48 PG48 69.0 | 59.3 4.85 10
SVN4-G00 G 1/4" 20.0 | 13.2 3.40 50
PS4 SVN4-GO1 G 3/8" 220 | 16.7 2.65 50
1' _1—_i SVN4-GO2 | G 1/2" 280 | 21.0 350 | 50
A SVN4-G04 G 3/4" 340 | 265 3.75 30
T = SVN4-G06 G 1" 42.0 | 333 4.35 20
- — SVN4-G07 G 1va" 53.0 | 41.9 5.55 20
3 Jl.1% [svNaGos | G1w 62.0 | 47.8 | 710 | 10
SVN4-G09 G2 69.0 | 59.6 4.70 10

32

58 0-ring Efm - RIBHR




PMA

HtACH

e STEE IR TE szl sTEEEfE o o
KR | T o] = | o 55| TR m | v |BE
NVN3-01 | 01 - 14.0] 50 | NFN3-07 | 07 1/4" 9.0/ 100
NVN3-02 | 02 - 14.0] 50 | NFN3-09 | 10 5/16" 9.0/ 50
NVN3-07 | 07 1/4" 9.0/100 | NFN3-11 | 12 3/8" 9.0| 50
NVN3-09| 10 | 5/16" 9.0l 50 | NFN3-16 |17 1/2" 9.0| 50
NVN3-11 | 12 3/8" |[12.0| 50 | NFN3-21 | 23 3/4" 9.0/ 30
NVN3-16| 17 1/2" [16.5] 50 | NFN3-29 | 29 1" 9.0/ 20
NVN3-21 | 23 3/4" 13.0| 30 || NFN3-36 | 36 14" 11.0] 20
NVN3-29 | 29 1" 14.0| 20 | NFN3-48| 48 | 12"~2"[11.0| 10
NVN3-36 | 36 1y (17.5| 20
NVN3-48| 48 | 11£"~2"(17.5| 10
A
ames | w | o= | ™ o | BE
WPS-NW12 12 3/8" 26.0 8.0 50
WPS-NW17 17 1/2" 3310 8.0 50
WPS-NW23 23 3/4" 40.0 9.0 30
WPS-NW29 29 1" 47.0 9.5 20
WPS-NW36 36 114" 59.0 10.0 20
WPS-NW48 48 112" 71.0 10.0 10
St
SEEE 518 SR e
BMN-M12 M12X1.5 17 19.0 5.0 100
BMN-M16 M16X1.5 22 24.0 5.0 100
BMN-M20 M20X1.5 27 29.0 5.6 100
BMN-M25 M25X1.5 32 35.0 6.0 100
BMN-M32 M32X1.5 41 46.0 7.0 25
BMN-M40 M40 X 1.5 50 55.0 7.0 10
BMN-M50 M50X1.5 60 66.0 8.0 10
BMN-M63 M63X1.5 75 83.0 8.0 5
BMN-07 PGO7 19 21.0 5.0 100
BMN-09 PG09 22 24.0 5.0 100
BMN-11 PG11 24 26.0 5.0 100
BMN-13 PG13.5 27 29.0 6.0 100
BMN-16 PG16 30 33.0 6.0 100
BMN-21 PG21 36 39.0 7.0 50
BMN-29 PG29 46 50.0 7.0 25
BMN-36 PG36 60 66.0 8.0 10
BMN-48 PG48 70 78.0 8.0 10
— mm B
S 48 =
GMM-M12 M12X1.5 15 17.0 2.8 100
GMM-M16 M16X1.5 19 21.0 2.8 100
GMM-M20 M20X1.5 24 27.0 3.0 100
GMM-M25 M25X1.5 30 33.0 35 100
GMM-M32 M32X1.5 36 39.0 4.0 100
GMM-M40 M40X1.5 46 51.0 4.5 50
GMM-M50 M50X1.5 60 66.0 5.0 50
GMM-M63 M63Xx1.5 70 76.0 515 50
GMM-07 PGO7 15 17.0 2.8 100
GMM-09 PG09 18 20.0 2.8 100
GMM-11 PG11 21 23.0 3.0 100
GMM-13 PG13.5 23 26.0 3.0 100
GMM-16 PG16 26 29.0 3.0 100
GMM-21 PG21 32 35.0 3.5 100
GMM-29 PG29 41 45.0 4.0 100
GMM-36 PG36 51 56.0 5.0 50
GMM-42 PG42 60 66.0 5.0 50
GMM-48 PG48 64 70.0 55 50

33




H At AR ZE iy

d

") hotset
@ Kellerlhne Tesch

~
-

=l

== Hotset

* BHAENE

* BIENENE

* JEHENE

EEl Keller lhne & Tesch

* BIPH AT RIS

* BERHE

*RNERBER

* ZNEE(R

&

&)

=B ELSTEIN

*RAIIMRFEE A
EmEREE : + T%

FYAMURR

mhAm ELEKTRONIK

+ BEEIR R
* B
=B Murrelektronik

* HIE CEFRRNITHIRER

* BECIRRETTIH
* EMCEIRER

* CEFREE SRR EM

* EEAT

* T 4. 08885
* BN BIRLESS

&KEEEE

CONTRINEX)

H1 Contrinex
* iR

* L EREIZE

* EERKEIZE

POSITAL

{=[El Posital FRABA

(S ERE

* 10 S T\ iRiSES
FRABA  HIRT RIS

* (EBE

BB Murrplastik

i

[murrP|astik m
a8
)

* HENEMSIZEE
* EEEEREGINERMSEE

* HETNEFIRIR

* ACSEBILIETR R

a tyco -HTs

intercontec

products

f&EEltyco-HTS
* AR BIMERER

=Bl Intercontec
* Bz ERERR

‘ GIMOTA ~

K1 GIMOTA
* B EE S
* FUHI 22 es
* SR s

* KEME RS
* SRR

#AGRO

I AGRO

* B EEEER
* PIIKE R

L binder

=B binder

* 1)\ BUEIRZ @RS
* SensoriE %2
* ) J)58 %S

elocab

{2 Elocab
* MR ER

34




XM E IR Ao iR a2 1 B RE L

ABBPMA [kl IIMURR  Lapinder elocab ™MAGRO

FRAB

Studer  Harnessflex — gy
inter. pggii @ Cables GIMOTA q) Cembre

Concah  POSITAL () hotset HellermannTyton CONTRINEX)

LR R



	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  10
	頁面  11
	頁面  12
	頁面  13
	頁面  14
	頁面  15
	頁面  16
	頁面  17
	頁面  18
	頁面  19
	頁面  20
	頁面  21
	頁面  22
	頁面  23
	頁面  24
	頁面  25
	頁面  26
	頁面  27
	頁面  28
	頁面  29
	頁面  30
	頁面  31
	頁面  32
	頁面  33
	頁面  34
	頁面  35
	頁面  36

